SUPPORTING INFORMATION

Reactivity of 2-Deoxy-2-iodo-glycosyl Isothiocyanates with O-, S- and N-

Nucleophiles. Synthesis of Glycopyranoso Fused Thiazols

Joaquin Isac-Garcia, Fernando Hernandez-Mateo, Francisco G. Calvo-Flores, Francisco Santoyo-

Gonzilez*

Instituto de Biotecnologia. Departamento de Quimica Orgénica, Facultad de Ciencias,

Campus Fuentenueva s/n, Universidad de Granada, Granada, E-18071-SPAIN

fsantoyo@ugr.es

TABLE OF CONTENTS

General Experimental Details
Experimental Procedures
Purification and Characterization data for compounds 5-44

'H and “C NMR spectra for compounds 5-44

S2

S3-S5
S6-S21
S22-S111

S1



General Experimental Details

TLC was performed on Merck silica gel 60F,4s aluminium sheets with detection using the Mostain
reagent [ceric sulfate (1%w/v and ammonium molybdate (2.5% w/v) in 10% (v/v) aqueous sulfuric
acid], by charring with 5% H,SO, in EtOH and by UV light when applicable. Flash column
chromatography on silica gel Merck or Scharlau (230-400 mesh. ASTM) with the solvent systems
indicated in Table. All the concentrations were carried out under diminished pressure at 40 °C. Melting
points were determinated with a Gallenkamp apparatus and are uncorrected. Optical rotations were
measured at 24 °C  with a Perkin-Elmer 141 Polarimeter NMR spectra were recorded at room
temperature on a Bruker AM-300 and AM-400 spectrometer. '"H NMR chemical shifts are given in ppm
and referenced to internal CHCl; (8 = 7.26) for CDCl; solutions. *C NMR chemical shifts are given in
ppm and referenced to CDCl (8 = 77.0). Assignments were based on COSY, HMQC, NOESY and
DEPT. Anhydrous solvents were prepared according to standard procedures and were freshly distilled
prior to use. FAB mass spectra were obtained on a Fissons VG Autospec-Q spectrometer using m-
nitrobenzyl alcohol or thioglicerol as matrix. For reasons of clarity and to reduce space the name
calix[4]arene was used instead of the original IUPAC name: pentacyclo[19.3.1.1>7.1%.1'*"¥]octacosa-

1(25),3,5,7(28),9,11,13(27),15,17,19(26),21,23-dodecaene.

S2



Experimental Procedures

General Procedure for the Synthesis of N-(2-deoxy-2-iodo-glycopyranosyl)thiocarbamates
(5, 7-9). A solution of the corresponding 2-deoxy-2-iodo-glycopyranosylisothiocyanates (1-4, 1 mmol)
in dry 1,2-dichloroethane (15 mL) and dry MeOH (8 ml) was heated under reflux for 45 min.
Evaporation of the solvent was followed by column chromatography (ether-hexane 4:1) to yield the

corresponding thiocarbamates 5§, 7-9.

Synthesis of S-ethyl N-(2,4,6-tri-O-acetyl-2-deoxy-2-iodo-0-D-manopyranosyl)-
dithiocarbamate (6). Triethylamine (0.075 mL) was added to a cold solution (0°C)of1(0.22 g, 0.48
mmol) and ethanethiol (0.035 mL, 0.48 mmol) in 1,2-dichloroetane (6 mL). After 5 min addition of 1,2-
dichloroethane was followed by washing with 5% HCI aqueous solution and water. The organic phase
was dried (Na,SO4) and evaporated to yield a crude product that was purified by a short column

chromatography (ether-hexane 2:1) giving 6°' (237 mg, 95%) as a foam solid.

General Procedure for the Synthesis of 2-methoxy or 2-ethylthio-4,S-dihydro-1,2-dideoxy-
glycopyranoso[1,2-d]-1,3-thiazoles (10-18). Method A: To a solution of the corresponding N-(2-deoxy-
2-10do-glycopyranosyl)thiocarbamates (5-9, 1 mmol) in benzene (25 mL) was added DBU (0.250 mL).
The reaction mixture was heated under reflux for 10 min. After cooling the reaction was filtered and
washed with water. The organic phase was dried (Na,SO,) and evaporated to give a crude product that

was purified by column chromatography to yield 10, 12, 13, 15 and 17, respectively.

Method B: To a solution of the corresponding N-(2-deoxy-2-iodo-glycopyranosyl)thiocarbamates (5, 7-
9, 1 mmol) in MeOH (25 mL) was added freshly prepared 0.1 M NaOMe-MeOH solution (20 mL). The
reaction mixture was kept at rt for 10 min and then heated under reflux for 10 min. Evaporation gave a

crude that was purified by column chromatography to yield 11, 14, 16 and 18, respectively.

S3



General Procedure for the synthesis of  2-alkylamino-4,5-dihydro-1,2-
dideoxyglycopyranoso|[1,2-d]-1,3-thiazoles (19-27). A solution of 1 (0.457 g, 1.1 mmol) and the
corresponding amine (benzylamine, ethanolamine, bis(2-hydroxyethyl)amine, methyl glycinate, 2-
aminomethylpyridine, 4-(2-aminoethyl)-imidazole, 4,5-dihydroxybenzylamine and 4-aminobenzo-
crown-18 or 6-amino-6-deoxy-1,2.5,6-di-O-isopropylidene-o.-D-galactopyranose,'* 1 mmol) in THF (20
mL) was kept a rt for 15-30 min. After this time tlc (ether or AcOEt) showed complete disappearance of
the starting materials. Et;N (0,28 mL, 2 mmol) was then added and the reaction mixture kept at rt for 24
h. Evaporation was followed by addition of CH,CL, or EtOAc and washing of the solution with brine.
The organic phase was dried (Na,SO,) and evaporated giving a crude product that was purified by
column chromatography yielding 19-27, respectively.

General procedure for the synthesis of glycopyranoso[1,2-d]-1,3-thiazolidine-2-thione (28,
29 and 33). To a solution of the corresponding 2-deoxy-2-iodo-glycosyl isothiocyanate (1, 2 and 4)
(0.29 g, 0.63 mmol) in acetone (25 mL) was added an aqueous solution of Na,S-9H,0 (160 mg, 5 mL).
The reaction mixture was stirred at rt for 45 min. CH,Cl, was added and the solution washed with
water. The organic phase was dried (Na,SO,) and evaporated to gave a crude product that was purified

by column chromatography or crystallized.

General procedure for the synthesis of glycopyranoso[1,2-d]-1,3-thiazolidine-2-one (30-32
and 34). A solution of the corresponding 2-deoxy-2-iodo-glycosyl isothiocyanate (1, 2 and 4, 1 mmol) or
2-deoxy-2-iodo thiocarbamates (5 and 7-9, 1 mmol) in 1,2-dichloroethane (12 mL) and MeOH (6 mL)

was heated under reflux for 16-60 h. Evaporation was followed by column chromatography of the crude.

General procedure for the synthesis of 2-deoxy-glycopyranosyl thiocarbamates (35-36). To
a solution of the corresponding 2-deoxy-2-iodo-glycopyranosylisothiocyanates (5 or 9, 0.5 mmol) in dry
ether (20 mL) was added HBu3Sn (0.2 mL) and AIBN (15 mg). The reaction mixture was heated under

reflux until tlc (ether-hexane 5:1) showed complete disappearance of the starting material (30 min) and

S4



then evaporated to yield a crude product that was purified by column chromatography (ether-hexane 3:1)

to yield 35 or 36, respectively.

General procedure for the synthesis and 2-deoxy-2-iodo-glycopyranosyl carbamates (37-
38). To a solution of the corresponding 2-deoxy-2-iodo-glycopyranosylisothiocyanates (4 or 9, 1 mmol)
in dry CH,Cl, (20 mL) was added Hg(AcO), (1 g, 3 mmol). The reaction mixture was keptatrt for 48 h
and then filtrated and washed with 20% IK aqueous solution and water. The organic phase was dried
(Na,S04) and evaporated to yield a crude product that was purified by column chromatography (ether-

hexane 3:1) giving 37 or 38, respectively.

General Procedure for the synthesis of  bis- (39-42). and tris-4,5-dihydro-1,2-
dideoxyglycopyranoso[1,2-d]-1,3-thiazoles (43-44). A solution of the corresponding diamines (1,2-
ethanediamine,  1,6-hexanediamine, 2-hydroxy-1,3-propanediamine, ~ 25,27-bis-(aminoethoxy)-
5,11,17,23-tetra-tert-butyl-26,28-dihydroxy-calix[4]arene'®) or triamines (tris(2-aminoethyl)amine, N-
(2-aminoethyl)-1,2-ethanediamine) (0.5 mmol) and 1 (1.1 mmol for the diamines and 1.7 mmol for the
triamines) in THF (20 mL) was kept a rt for 30 min. After this time Et;N or DBU (in the case of tris(2-
aminoethyl)amine) (2.2 mmol for the diamines and 3.4 mmol for the triamines) was added and the
reaction mixture kept at rt for 24 h. Evaporation was followed by addition of EtOAc and washing of
the solution with brine. The organic phase was dried (Na,SO;) and evaporated to yield a crude product

that was purified by column chromatography.

S5



Purification and Characterization data

Methyl N-(3,4,6~tri-O-acetyl-2-deoxy-2-iodo-0-D-mannopyranosyl)thiocarbamate (5).
Column chromatography (ether-hexane 4:1) of the crude gave a solid (75 %): mp 129-130 °C; [ct]p +52°
(c 1, chloroform); IR (KBr) 3412, 1746, 1620, 1521 cm™; 'H NMR (300 MHz, DMSO-d¢): & 10.28 (d, 1
H, J=8.8 Hz), 6.05 (dd, 1 H, J=8.5 and 5.5 Hz, H-1),5.02(t, 1 H,J=6.1 Hz, H-4),4.97 (dd, 1 H, J =
5.9 and 3.1 Hz, H-3),4.62 (dd, 1 H,J=5.1 and 3.7 Hz, H-2), 4.24 (dd, 1 H, J= 12.5and 6.6 Hz, H-6),
4.10-4.00 (m, 2 H, H-5,6"), 3.93 (s, 3 H, OMe), 2.07, 2.04, 2.00 (3 5, 9 H, 3 Ac); *C NMR (75 MHz,
DMSO-de): 6 191.9, 169.8, 169.0, 168.7, 82.7, 71.6, 69.3, 67.2, 61.2, 56.9, 27.6, 20.5, 20.4, 20.3; MS
(CD) m/z 490 (M" + 1), 430 (M" - C,H;0); Anal. Calcd for C14HINOgS: C, 34.36; H, 4.12; N, 2.86.

Found: C, 34.96; H, 4.04; N, 2.75.

S-Ethyl  N-(2,4,6-tri-O-acetyl-2-deoxy-2-iodo-a-D-manopyranosyl)-dithiocarbamate  (6).
Column chromatography (ether-hexane 2:1) of the crude gave a foam solid (95%) : mp 54-57 °C; [0]p
+51° (¢ 1, chloroform); IR (film) 3286, 1746, 1232 cm™; 'H NMR (300 MHz, Cl;CD): §7.82 (br
s, 1H, NH), 6.22 (brs, 1 H, H-1), 5.13 (t, 1 H,J = 6.3 Hz, H-4), 4.87 (dd, 1 H, J = 6.5 and 4.0 Hz, H-
3),4.65(dd, 1 H,J=5.6 and 3.9 Hz, H-2), 4.42 (dd, 1 H; J = 12.1 and 6.4 Hz, H-6), 4.30 (dd, 1 H, J=
12.1 and 4.2 Hz, H-6'), 4.17 (m, 1 H, H-5), 3.27 (q, 2 H, J = 7.5 Hz, CH,S), 2.17, 2.10, 2.09 (35, 9 H, 3
MeCO), and 1.34 (t, 3 H, J = 7.5 Hz, CHsCH,S); °C NMR (100 MHz, DMSO-ds): § 200.1 (CS), 169.9,
169.1, 168.8 (CO), 81.9 (C-1), 72.0, 69.1, 67.1 (C-3,4,5), 61.1 (C-6), 28.5 (C-2), 27.4 (SCH,), 20.3,
20.5, 20.4 (MeCO), 13.9 (CH3CH,); Anal. Calcd for C;sH5,INO;S,: C, 34.69; H, 4.27; N, 2.70; S, 12.35.

Found: C, 34.70; H, 4.34, N, 2.74; S, 11.86.

Methyl N-(3,4,6-tri-O-acetyl-2-deoxy-2-iodo-a-D-talopyranosyl)thiocarbamate (7). Column
chromatography (ether-hexane 4:1) of the crude gave a solid (86%): mp 70 °C; [o]p + 22 ° (¢ 1,

chioroform); IR (Nujol) 3293, 1751, 1526, 1459, 1375, 1213 cm™; 'H NMR (300 MHz, DMSO-ds): 8

S6



10.28 (d, 1H, J = 8.8 Hz), 5.89 (t, 1 H,J=9.0 Hz,), 545 (t, 1 H, J=3.2 Hz), 5.18 (dd, 1 H,J =5.8
and 3.3 Hz), 4.54 (dd, J =9.0 and 3.3 Hz), 4.47 (dd, 1 H,J =12.2 and 3.5 Hz), 4.34 (ddd, 1 H, J =
8.8,5.8, and 3.2 Hz), 4.20 (dd, 1 H, J = 12.2 and 3.2 Hz), 3.91 (s, 3 H), and 2.13, 1.98 (2 s, 9 H); C
NMR (100 MHz, DMSO-de): § 192.3, 170.0, 168.9, 168.8, 79.4, 71.0, 69.6, 66.1, 60.0, 56.9, 25.0,
20.5, 20.2 ; MS (CI) m/z 490 (69) (M +1)", 430 (100) (M" - AcOH); Anal. Calcd for C14HINOsS: C,

34.36; H, 4.12; N, 2.86. Found: C, 34.86; H, 4.04; N, 2.75.

Methyl  N-[(2,3,4,6-tetra-O-acetyl-o-D-glucopyranosyl)-(1 —4)-3,6-di-O-acetyl-2-deoxy-2-
iodo-a-D-mannopyranosyl]thiocarbamate (8). Column chromatography (ether-hexane 4:1) of the
crude gave a solid (87%): mp 147-149 °C; [a]p +86.5° (¢ 1, chloroform); IR (Nujol): 3247, 1748, 1708,
1541 cm™; "H NMR (400 MHz, DMSO-de): 8 10.08 (d, 1 H, J=9.0 Hz), 5.92 (t, 1 H, J= 8.6 Hz), 5.31
(d, 1H,J/=42Hz),5.28 (t, 1 H,J=10.2 Hz), 4.98 (t, 1 H, J=9.6 Hz), 4.94 (m, 1 H), 4.87 (dd, 1 H, J
= 10.2 and 4.0 Hz), 4.65 (dd, 1 H, J= 8.2 and 3.2 Hz), 4.32-3.86 (m, 7 H), 3.92 (s, 3 H), 2.11, 2.06,
2.01, 1.99, 1.98, 1.97 (6 s, 18 H); *C NMR (75 MHz, DMSO-dy): & 192.3, 170.1, 170.0, 169.6, 169.6,
169.3, 169.2, 95.1, 81.3, 73.3, 72.1, 69.7, 69.2, 67.9, 61.7, 61.5, 57.0, 24.3, 20.7, 20.6, 20.3; HMRS

(FAB) Calcd for Cy6H3sINO;sSNa 800.0697 [M + Na]", found 800.0698; Anal. Caled for CosHisINO (S:

C,40.16; H, 4.67; N, 1.80. Found: C, 40.36; H, 4.72; N, 1.37.

Methyl N-(3,4,6-tri-0O-acetyl-2-deoxy-2-iodo-B-D-glucopyranosyl)thiocarbamate 9).
Column chromatography (ether-hexane 4:1) of the crude gave a solid (87%): mp 171-173 °C; [op +56°
(¢ 1, chloroform); IR (Nujol) 3307, 1740, 1533, 1138, 1096 cm™; 'H NMR (400 MHz, C5CD): § 6.71
(d, 1H,J=9.4Hz),5.82 (dd, 1 H, J=10.1 and 9.9 Hz), 5.38 (dd, 1 H, J = 10.5 and 9.4 Hz), 4.98 (dd,
1 H,J=9.7 and 9.4 Hz), 4.33 (dd, 1 H, J=12.5 and 4.5 Hz), 4.09 (dd, 1 H, J=12.6 and 1.7 Hz), 4.02
(s, 3 H), 3.97 (dd, 1 H, J = 10.7 and 10.5 Hz), 3.99 (ddd, 1 H, J = 10.1, 4.3 and 1.7 Hz), 2.09, 2.06,
2.01 (3s, 9 H); "C NMR (100 MHz, CKCD): § 192.5, 170.7, 169.8, 169.5, 85.5, 76.0, 74.1, 68.6, 61.7,

57.9, 29.5, 20.9, 20.8, 20.7; MS (CI) m/z 490 (M" + 1), 430, 370, 339, 218; Anal. Calcd for

S7



C1aH2INOsS: C, 34.36; H, 4.12; N, 2.86. Found: C, 34.54; H, 4.00; N, 2.81.

2-Methoxy—4,5-dihydro(3,4,6-tri-0-acetyl-1,2-dideoxy-oc—D-glucopyranoso)[1,2-d]—1,3-
thiazole (10). Column chromatography (ether-hexane 1:2) of the crude gave a solid (66%): mp 111-112
°C; [adp +202° (¢ 1, chloroform); IR (KBr) 1749, 1628, 1228 cm™; 'TH NMR (400 MHz, CDCL): & 5.68
(d, 1H,J=5.7Hz),5.18 (t, 1 H,J=9.5 Hz), 497 (t, 1 H,J=9.7 Hz), 446 (dd, 1 H,J =12.4 and 3.7
Hz), 4.14-4.09 (m, 2 H), 3.96 (s, 3 H), 3.66 (dd, 1 H,J=9.5 and 5.7 Hz,), 2.07, 2.02, 1.99 (3s, 9 H);
C NMR (100 MHz, CDCL): 8 170.8, 170.1, 169.8, 167.2, 97.2, 75.9, 69.8, 68.3, 61.9, 58.7, 54.4,
20.8, 20.8, 20.7; MS (CI) m/z 362 (M" + 1), 302 (M" + 1 - C;H40,); Anal. Calcd for C14H,0NOsS: C,
46.52; H, 5.30; N, 3.88. Found: C, 46.30; H, 5.20; N, 3.92.

2-Methoxy 4,5-dihydro-(1,2-dideoxy-o—D-glucopyranoso)[1,2-d}-1,3-thiazole (11). Column
chromatography (MeOH-chloroform 1:10) of the crude gave a solid (95%): mp 121-124 °C; [op +189°
(¢ 1, methanol); IR (Nujol) 3415, 3314, 1631, 1100 cm™; '"H NMR (400 MHz, DMSO-d¢):8 5.49 (d, 1
H,J =58Hz),542(d, 1 H,J=56Hz),5.02(d, 1 H,J =58 Hz),4.52 (t, 1 H,J =5.9 Hz), 3.85 (s, 3
H), 3.67 (ddd, 1 H, J=11.8, 6.0, and 2.2 Hz; dd, J = 11.8 and 2.2 Hz, after isotopic change with D,0),
3.53(ddd, 1 H,J=11.8, 6.1 and 5.7 Hz; dd, J = 11.8 and 5.3 Hz, after isotopic change with D,0), 3.44
(dd, 1 H, J=9.5 and 5.8 Hz), 3.37 (ddd, 1 H, J=9.6, 5.4, and 2.2 Hz), 3.25 (dt, 1 H,J = 9.4 and 5.7
Hz; t, J = 9.4 Hz, after isotopic change with D,0), and 3.11 (dt, 1 H, J 9.3 and 5.6 Hz; t, J=9.4 Hz,
after isotopic change with D,0); >C NMR (100 MHz, DMSO-dq): 8 165.3, 96.5, 76.7, 74.5, 69.5, 60.2,
57.9, 57.4; MS m/z (CI): 235 (M"), 204 (M" - MeO); Anal. Calcd for CsH;3sNOsS: C, 40.84; H, 5.57; N,

5.95; S, 13.60. Found: C, 41.30; H, 5.69; N, 5.65; S, 13.23%.

2-Ethylthio-4,5-dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoso)[1,2-d]-1,3-
thiazole (12). Column chromatography (ether-hexane 1:1) of the crude gave 17 a solid (62%): mp 96
°C; [a]p +225° (¢ 1, chloroform); IR (KBr) 1747, 1556, 1441, 1368, 1239, 1218, 1120, 1019 cm™; 'H

NMR (300 MHz, CDCL): § 5.68 (d, 1 H,J=5.7 Hz), 4.98 (dd, 1 H, J=9.5 and 9.2 Hz), 4.93 (d, 1 H, J

S8



=9.5Hz),4.41 (dd, 1 H,J=12.4 and 3.6 Hz), 4.10 (d, 1 H, J = 12.4 Hz), 4.05 (m, 1 H), 3.58 (dd, 1 H,
J=9.1 and 5.8 Hz), 3.14-2.98 (m, 1 H), 2.03, 1.97, 1.94 (3s, 9 H), 1.31 (t, 1 H, J = 7.4 Hz); °C NMR
(100 MHz, CDCL;): & 170.6, 169.9, 166.8, 101.8, 75.2, 70.2, 68.1, 61.7, 52.2, 27.4, 20.7, 20.7, 20.6,
14.5; MS (CI) m/z 392 (M" + 1), 362, 289, 244, 232, 202, 184, 142, 114; HMRS (FAB) Calcd for
Ci1sH:NO;S;Na 414.0657 [M + Na]", found 414.0649; Anal. Caled for C1sH2NO;S,: C, 45.92; H, 5.33;

N,3.52. Found: C, 46.04, H, 5.37, N, 3.58.

2-Methoxy-4,5-dihydro(3,4,6-tri-O-acetyl-1,2-dideoxy-a-D-galactopyranoso)[1,2-d]-1,3-
thiazole (13). Column chromatography (ether-hexane: 1:1) of the crude gave a syrup (71%): [a]p +94°
(¢ 1, chloroform); '"H NMR (300 MHz, CLCD): 8 5.75 (d, 1 H,J=5.6 Hz), 537 (d, 1 H, J= 2.9 Hz),
4.96 (dd, 1 H, J=10.5 and 3.1 Hz), 4.28 (t, | H, /= 6.7 Hz), 4.17 (m, 2 H), 3.98 (s, 3 H), 3.75 (dd, 1
H, J=10.6 and 5.6 Hz), 2.15, 2.06,2.02 (3 s, 9 H); C NMR (75 MHz; C15CD): § 170.5, 170.2, 170.0,

167.1,97.2,73.3, 68.6, 66.3, 61.7, 58.6, 50.8, 20.8, 20.7, 20.6; HMRS (FAB) Calcd for C,4H;)NOsSNa

384.0729 [M + NaJ’, found 384.0731.

2-Methoxy-4,5-dihydro-(1,2-dideoxy-0.—D-galactopyranoso)[1,2-d}-1,3-thiazole (14).
Column chromatography (MeOH-chloroform 1:10 to 1:7) of the crude gave a solid (89%): mp 198-200
°C; [adp +163° (¢ 0.8, methanol); IR (KBr) 3429, 3193, 1610, 1269, 1248, 1112 cm™; 'TH NMR (300
MHz, DMSO-d¢): 8 5.47 (d, 1 H, J = 5.7 Hz), 5.20 (br s, 1 H), 4.7 (br s, 2 H), 3.83 (s, 3 H), 3.70-3.30
(m, 6 H), 5.2 (br s, 1 H), "C NMR 167.0, 97.2, 73.8, 73.4, 67.8, 60.0, 58.6, 55.2; HMRS (FAB) Calcd

for CgH;3NOsSNa 258.0412 [M + Na]', found 258.0411.

2-Methoxy-4,5-dihydro-[(2,3,4,6-tetra-0-acetyl-o-D-glucopyranosyl)-(1 —4)-3,6-di-O-
acetyl-1,2-dideoxy-o-D-glucopyranoso}[1,2-d]-1,3-thiazole (15). Column chromatography (ether) of
the crude gave a syrup (65%): [a]p +140° (¢ 1, chloroform); IR (KBr) 1751, 1627, 1228, 1037 cm™; 'H

NMR (300 MHz, CCD): 8 5.73 (d, 1 H, /= 6.4 Hz), 5.36 (dd, 1 H, J=10.5 and 9.6 Hz), 5.32 (d, 1 H,

S9



J=42Hz),524 (t, 1 H,J="7.4Hz),5.05(t, 1 H,J=9.8 Hz), 4.86 (dd, 1 H, J = 10.4 and 3.9 Hz), 4.50
(dd, 1 H,J=12.1 and 2.8 Hz), 4.28 (dd, 1 H, J= 12.2 and 4.2 Hz), 4.22 (dd, 1 H, J = 12.3 and 4.0 Hz),
4.07-3.96 (m, 3 H), 3.98 (s, 3 H), 3.82(dd, 1 H, J=9.0 and 7.2 Hz), 3.76 (dd, 1 H, J= 7.5 and 6.5 Hz),
2.13,2.08, 2.08, 2.06, 2.01, 1.98 (5 s, 18 H); *C NMR (75 MHz, C1;CD): § 170.6, 170.5, 169.9, 169.8,
169.5, 168.0, 96.4, 95.7, 75.4, 73.4, 70.3, 69.7, 69.6, 68.5, 68.2, 63.3, 61.7, 58.7, 53.9, 30.4, 21.1, 20.9,
20.8, 20.7, 20.6; MS (CI) m/z 650 (M" + 1), 590, 488, 331; HMRS (FAB) Calcd for CosH;sNO,cSNa

672.1574 [M + Na]’, found 672.1563.

2-Methoxy-4,5-dihydro-[(0-D-glucopyranosyl)-(1 -4)-(1,2-dideoxy-o-D-
glucopyranoso)[1,2-d]-1,3-thiazole (16). Column chromatography (MeOH-chloroform 1:3) of the
crude gave a hygroscopic solid (94%): [a]p +140° (¢ 1, methanol); *C NMR (75 MHz, DMSO-d): &
175.6, 100.6, 96.4, 79.0, 76.9, 73.4, 73.2, 73.0, 72.2, 69.8, 60.6, 60.3, 58.0, 56.8; HMRS (FAB) Calcd
for C14H23sNOoSNa 420.0940 [M + Na]", found: 420.0943.

2-Methoxy-4,5-dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-mannopyranoso)[1,2-d]-1,3-
thiazole (17). Column chromatography (MeOH-chloroform 1:20) of the crude gave a syrup (65%): []p
-18° (¢ 1, chloroform); IR (KBr) 1728, 1258, 1094, 1068, 1048 cm™; '"H NMR (400 MHz, CIC;D): &
545(d,1H,J=39Hz),5.37(dd, 1 H,J=9.3 and 5.9 Hz), 5.25 (t, 1 H,J=9.5 Hz),4.64 (dd, 1 H, J =
5.9 and 3.9 Hz), 4.24 (dd, 1 H, J=12.2 and 5.5 Hz), 4.08 (dd, 1 H, J = 12.2 and 2.5 Hz), 3.96 (s, 3 H),

3.64 (ddd, 1 H, J = 9.5, 5.5 and 2.5 Hz), 2.03, 2.01, 2.00 (3 s, 9 H); °C NMR (100 MHz; CL5CD):
8175.8,170.8, 170.9, 169.5, 95.0, 72.4, 70.7, 66.4, 62.6, 58.4, 57.0, 20.8, 20.7, 20.6; MS (CI) m/z 362

(M" + 1), 302, 284, 242; Anal. Caled for C,4HsNOsS: C, 46.52; H, 5.30; N, 3.88. Found: C, 46.29; H,

5.59; N, 3.74
2-Methoxy-4,5-dihydro-(1,2-dideoxy-o-D-mannopyranoso)[1,2-d]-1,3-thiazole (18). Column

chromatography (MeOH-chloroform 1:9) of the crude gave a solid (50%): mp 195 °C (dec); [ot]p -22° (c

1, methanol); IR (Nujol): 3430, 3331, 1598, 1255, 1071, 1039 cm™; 'H NMR (400 MHz, DMSO-d ¢): 8

S10



573(d,1H,J/=4.1Hz),5.32(d, 1 H,J=3.6 Hz),4.96 (d, 1 H, J=5.6 Hz), 4.50 (t, | H, J=5.9 Hz),
4.54 (dd, 1 H, J=5.9 and 3.6 Hz), 3.85 (ddd, 1 H, J=9.3, 5.8 and 4.1 Hz), 3.83 (s, 3 H), 3.67 (ddd, 1
H,J=11.9, 6.1 and 2.1 Hz), 3.40 (dt, 1 H, /= 12.0 and 5.9 Hz), 3.30 (dt, 1 H, J=9.3 and 5.6 Hz), 3.05
(ddd, 1 H, J = 9.5, 6.3 and 2.1 Hz); >C NMR (100 MHz, DMSO-d¢): § 174.1, 93.5, 76.7, 70.7, 67.5,
61.7, 60.8, 57.3; MS (CI) m/z 236 (M* + 1), 218, 179, 158, 128, 116; Anal. Calcd for CsH;3NOsS: C,
40.85; H, 5.53; N, 5.96. Found: C, 41.02; H, 5.74; N, 5.73
2-Benzylamino4,5-dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoeso)[1,2-d]-1,3-

thiazole (19). Column chromatography (EtOAc:hexane 1:1) of the crude gave a solid (54%): mp 36-37
°C; [atlp +124° (¢ 0.2, chloroform); IR (KBr) 3375, 1745, 1543, 1227, 1041 cm™; '"H NMR (300 MHz,
CDCl): 6 7.30 (m, 5 H, C¢Hs), 5.72 (d, 1 H,J =5.4Hz),5.16 (t, 1| H,J=9.5Hz),499 (t, 1 H, J=9.7
Hz),4.55and 442 (2d,2 H,J=14.4 Hz),4.46 (dd, 1 H,J = 12.4 and 3.3 Hz), 4.18 (ddd, 1 H,J =9.8,
3.3 and 2.5 Hz), 4.08 (dd, 1 H, J = 12.5 and 2.5 Hz), 3.59 (dd, 1 H, J = 9.3 and 5.4 Hz), 2.06, 2.02 and
1.99 (3 s, 9 H); °C NMR (75 MHz, CDCL): 8 170.8, 170.2, 169.8, 158.5, 137.4, 128.9,127.9, 127.8,
99.0, 76.0, 69.2, 68.5, 62.0, 53.0, 48.8, 20.8, 20.8, 20.7; HMRS (FAB) Calcd for CH24N,0,SNa

459.1202 [M + Na]", found 459.1203.

2-Hydroxyethylamino-3,4-dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoso)|1,2-
d]-1,3-thiazole (20). Column chromatography (ether) of the crude gave a syrup (92%): [a]p +135° (¢
0.2, chloroform); IR (KBr) 3387, 1744, 1560, 1231, 1044 cm™; '"H NMR (300 MHz, CDCl): § 5.72 (d,
1H,J=54Hz),516(, 1 H,J=94Hz),498 (t, 1 H,J =9.6 Hz), 444 (dd, 1 H, J = 12.0 and 3.6
Hz), 4.21-4.09 (m, 3 H), 3.77 (m, 2 H), 3.61 (dd, 1 H, J = 9.3 and 5.5 Hz), 3.48 (m, 2 H), 2.09, 2.05,
2.01 (3 s, 9 H); "C NMR (75 MHz, CDCL): § 170.8, 170.4, 169.8, 159.9, 98.6, 75.9, 69.2, 68.5, 62.0,

61.8,52.8, 47.2, 21.0, 20.8, 20.6; HRMS (FAB) Calcd for C;sH;,N,O4SNa 413.0985 [M + Na]", found

413.0986.

2-N,N-Bis(2-hydroxyethyl)amino-3,4-dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-

S11



glucopyranoso)[1,2-d]-1,3-thiazole (21). Column chromatography (EtOAc) of the crude gave a solid
(59%): mp 97-99 °C; [at]p +142° (¢ 0.2, chloroform); IR (Nujol) 3304, 1749, 1653, 1602, 1528, 1253
cm’; 'H NMR (300 MHz, CDCL;): $5.68 (d, 1 H, J = 5.5 Hz), 5.14 (t, 1 H, J = 9.5 Hz), 4.99 (t, 1 H, J
=9.7Hz), 4.44(dd, 1 H,J =12.4 and 3.8 Hz), 4.19-4.10 (m, 2 H), 3.89-3.83 (m, 4 H), 3.60 (dd, 1 H,
J =9.3 and 5.4 Hz), 3.63-3.43 (m, 6 H), 2.09, 2.05, 2.01 (3 s, 9 H); °C NMR (75 MHz, CDClL): &
170.8, 170.4, 169.7, 162.2, 98.2, 75.7, 69.3, 68.4, 62.0, 62.5, 55.3 , 53.2, 20.8, 20.7, 20.6; HMRS
(FAB) Calcd for C17Hy6N,O4SNa 457.1256 [M + Na]', found 457.1258; Anal. Calcd for

Ci7H6N2008-H,0: C, 45.12; H, 6.23; N, 6.19; S, 7.08. Found: C, 45.54; H, 6.23; N, 6.08; S, 6.64.

2-Methoxycarbonylmethylamino-3,4-dihydro(3,4,6-tri-0-acetyl-1,2-dideow—a—D-
glucopyranoso)[1,2-d]-1,3-thiazole (22). Column chromatography (EtOAc) gave a syrup (75%): [o]p
+139° (¢ 0.2, chloroform); IR (KBr) 3363, 1745, 1624, 1228, 1045 cm™; 'TH NMR (300 MHz, CDCL): §
5.71(d, 1H,J =54Hz),515(t, 1 H,J =9.5Hz),4.99 (t, 1 H,J = 9.6 Hz), 4.47 (dd, 1H,J =122
and 3.5 Hz), 4.22-4.08 (m, 4 H), 3.79 (s, 3 H), 3.62 (dd, 1 H, J = 9.3 and 5.5 Hz), 2.10, 2.04, 2.00 3s,
9 H); °C NMR (75 MHz, CDCL): 6 170.8, 170.1, 170.0, 169.8, 158.2, 98.9, 75.9, 69.1, 68.4, 61.9,

53.2, 52.5, 45.5, 20.8, 20.6; HMRS (FAB) Calcd for CisH2,N,00SNa 441.0943 [M + NaJ", found

441.0944.

2-(Pyridyn—2’-yl-metylamine)—4,5-dihydro(3,4,6-tri—0—acetyl—1,2-dideoxy-0c—D-
glucopyranoso)[1,2-d]-1,3-thiazole (23). Column chromatography (EtOAc) of the crude gave a solid
(79%): mp 107-108 °C; [ap +149° (c 0.3, chloroform); IR (KBr) 3461, 1747, 1645, 1240, 1116, 1033,
757 cm™; 'H NMR (300 MHz, CDCL): 8 8.54 (br d, 1 H, J = 4.9 Hz), 7.69 (ddd, 1 H, J = 7.8, 7.6 and
1.8 Hz), 7.28-7.20 (m, 2 H), 5.77(d, 1 H,J =54 Hz),5.19(, 1 H,J =95 Hz), 5.02 (t, 1 H,J =9.7
Hz), 4.67 (s, 2 H), 4.51 (dd, 1 H,J = 12.3 and 3.4 Hz), 423 (ddd, 1 H, J = 9.8, 3.3 and 2.2 Hz), 4.14
(dd, 1 H,J =122 and 2.1 Hz), 3.63 (dd, 1 H, J = 9.4 and 5.4 Hz), 2.10, 2.05, 2.00 (35,9 H); "CNMR

(75 MHz, CDCl): 6 170.6, 170.0, 169.6, 158.4, 155.7, 148.8, 136.7, 122.4, 121.7, 98.9, 75.9, 68.9,

S12



68.4, 61.9, 52.9, 48.7, 20.9, 20.6, 20.5; HMRS (FAB) Calcd for C1sHp3sN30,SNa 460.1154 [M + Na]",

found 460.1151.

2-[(1H-Imidazol-4-yl)-ethylamine]-4,5—dihydro-(3,4,6-tri-0-acetyl—1,2-dideoxy—a—D-
glucopyranoso)[1,2-d]1,3-thiazole (24). Column chromatography (MeOH:chloroform 1:7) of the crude
gave a solid foam (100%): [at]lp +117° (¢ 1, methanol); IR (KBr) 3416, 1745, 1619, 1241, 1110, 1043
cm™; 'TH NMR (300 MHz, acetone-dg): 6 8.29 (s, 1 H, imidazol-H-2), 7.20 (s, 1 H, imidazol-H-4), 6.46
(brs,2H,2NH), 5.64 (d, 1 H,J = 5.4 Hz, H-1), 5.02 (t, 1 H,J = 9.4 Hz, H-3), 4.86 (t, L H, J = 9.6 Hz,
H-4),4.30 (dd, 1 H, J = 11.9 and 4.0 Hz, H-6), 4.12 (m, 1 H, H-5), 4.06 (brd, 1 H, J = 12.0 Hz, H-6"),
3.70 (dd, 1 H, J = 9.2 and 5.5 Hz, H-2), 3.62 (t, 2 H, J = 6.7 Hz, CH,N), 3.02 (t, 2 H, J = 6.6 Hz,
CH,CH;N), 1.97,1.97, 1.94 (3 5, 9 H, 3 MeCO); >C NMR (75 MHz, acetone-dg): 8 170.7, 170.2, 170.0
(3 CO), 159.3 (C=N), 135.2 (C-2-imidazol), 134.1 (C-5-imidazol), 117.6 (C-4-imidazol), 99.3 (C-1),
76.2 (C-3), 69.6, 69.4 (C-4,5), 62.8 (C-6), 52.9 (C-2), 44.4 (CH,N), 26.5 (CH,CH,N), 20.7, 20.6, 20.6

(3 MeCO); HMRS (FAB) Calcd for CisHysN4O7S 441.1444 [M + H]', found: 441.2966.

2—(3,4-dihydroxybenzylamino)-4,5-dihydro-(3,4,6—tri-0—acetyl-1,2-dideoxy-a—D-
glucopyranoso)[1,2-d]-1,3-thiazole (25). Column chromatography (EtOAc) of the crude gave a solid
(96%): IR (KBr) 3378, 1744, 1619, 1241, 1113 cm™; '"H NMR (300 MHz, CDCL): 8 6.77 (d, 1 H, J =
8.1 Hz), 6.75 (brs, 1 H), 6.59 (dd, 1 H,J = 8.1 and 1.5 Hz), 5.75 (d, 1 H, J = 5.4 Hz), 6.30 (br s, 3 H),
519(t, 1 H,J =95Hz), 4.94 (t, 1 H, J = 9.7 Hz), 4.35-4.13 (m, 4 H), 4.02 (brd, 1 H, J = 12.2 Hz),
3.61(dd, 1 H, J = 9.4 and 5.4 Hz), 2.07, 2.01, 2.00 (3 5, 9 H); °C NMR (75 MHz, CDCL): & 171.2,
170.7, 169.9, 164.4, 144.6, 144.5, 129.3, 120.0, 115.6, 114.7, 97.9, 75.8, 69.3, 68.7, 62.1, 52.4, 48.5,

20.9, 20.8, 20.7; HMRS (FAB) Calcd for CH;4N,04SNa: 491.1100 [M + Na]", found 491.1094.

N-{4,5—Dihydro-(3,4,6—tri-0—acetyl—l,2-dideoxy—a—D-glucopyranoso)[1,2-d]-1,3-thiazol-2-
yl}-4'-aminobenzo-15-crown-5 (26). Crystallization of the crude product (cther-EtOAc 1:1) gave a

solid (92%): mp 163-165 °C (dec); [o]p +26° (c 1, chloroform); IR (KBr) 3454, 1740, 1624,
S13



1521, 1248, 1130, 1104 cm™; '"H NMR (300 MHz, CDCl): 8 6.90-6.70 (m, 3 H), 5.75(d, 1 H, J = 5.7
Hz), 5.26 (t, 1 H,J = 9.4 Hz), 5.01 (t, 1 H, J = 9.6 Hz), 4.40 (dd, 1 H, J = 12.2 and 3.6 Hz), 4.24 (m, 1
H), 4.13-4.06, 3.92-3.88, and 3.75 3 m, 17 H), 3.15(dd, 1 H, J = 9.4 and 5.5 Hz), 2.09, 2.04 and 2.01
(3 s, 9 H); °C NMR (75 Hz, CDCL): 6 170.7, 170.1, 169.7, 158.0, 149.3, 146.2, 135.5, 114.4, 108.8,

95.1,75.5, 69.3, 68.4, 71.0, 70.9, 70.5, 70.4, 69.7, 69.5, 69.3, 68.7, 61.8, 50.8, 20.9, 20.8, 20.7; HMRS

(FAB) Calcd for Cy7Hs6N,01,SNa: 635.1886 [M + NaJ*, found 635.1882.

2-[6'-Amino-6'-deoxy-1',2':3',4'-di-O-isopropyliden-o-D-galactopyranose-6'-N-yl]-4,5-
dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoso)[1,2-d]-1,3-thiazole (27). Column
chromatography (ether:hexane 3:1) of the crude gave a solid (77%): mp 98-101 °C; [op +42° (c1,
chloroform); IR (KBr) 3388, 1745, 1647, 1238, 1068 cm™; 'H NMR (300 MHz, CDCl): & 5.66 (d, 1 H,
J=54Hz,H-1),549 (d, 1 H,J =49 Hz, H-1'), 5.11 (1, 1 H,J = 9.6 Hz, H-3),4.97 (t, 1 H, J = 9.7 Hz,
H-4),4.59 (dd, 1 H, J = 7.8 and 2.4 Hz, H-4'), 4.46 (dd, 1 H, J = 12.4 and 3.6 Hz, H-6), 4.29 (dd, 1 H,
J =5.0 and 2.4 Hz, H-2"), 4.20 (dd, 1 H, J = 7.8 and 1.7 Hz, H-3'), 4.19-4.15 (m, 1 H, H-5 or H-5"),
4.08 (dd, 1 H, J = 12.3 and 2.0 Hz, H-6), 3.99(dd, 1 H, J = 4.7 and 1.6 Hz, H-5' or H-5), 3.65 (dd, 1 H,
J =13.5 and 3.2 Hz, H-6"), 3.55 (dd, 1 H, J = 9.3 and 5.5 Hz, H-2), 3.39 (dd, 1 H, J = 13.8 and 8.7 Hz,
H-6'), 2.07, 2.02, 1.98 (3 5, 9 H, 3 MeCO), and 1.47, 1.43, 1.31, 1.30 (4 s, 12 H, 2 Me,C); *C NMR (75
MHz, CDCL): § 170.7, 170.1, 169.7 (3 CO), 159.0 (C=N), 109.5, 108.7 (2 Me,C), 99.1 (C-1), 96.2 (C-
1'), 76.0 (C-3), 71.5 (C-3"), 70.9, 70.6 (C-2',4"), 68.9 (C-5 or C-5", 68.5 (C-4), 65.8 (C-5' or C-5), 61.9
(C-6), 52.8 (C-2), 44.7 (C-6), 26.0, 24.9, 24.3 (2 Me,C), 20.7, 20.6 (MeCO); HMRS (FAB) Calcd for
CysH36N2012SNa 611.1887 [M + Na]’, found 611.1887; Anal. Calcd for CasH3¢N,01,S-1/2H,0: C,
50.24; H, 6.24. Found: C, 50.36; H, 6.72.

3,4,6-Tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoso[1,2-d]-1,3-thiazolidin-2-thione (28).
Column chromatography (ether-hexane 1:2) of the crude gave a solid (38%): mp 170-171 °C; [alp

+148.6° (c 1, chloroform); IR (KBr) 3150, 1760, 1742, 1494, 1229, 1209, 1141, 1114, 1051 cm’; 'H

S14



NMR (400 MHz, DMSO-d): 8 10.9 (brs, 1 H), 5.91 (d, 1 H,J= 6.6 Hz), 5.10 (t, 1 H, J= 6.8 Hz), 4.90
(dd, 1 H,J=9.4 and 6.9 Hz), 4.27 (t, 1 H, J= 6.7 Hz), 4.22 (dd, 1 H, J = 12.4 and 5.5 Hz), 4.07 (dd, 1
H,J=12.4 and 2.6 Hz), 4.05 (ddd, 1 H, J= 9.4, 5.5 and 2.6 Hz), 2.02, 2.01, 2.00 (3s, 9 H); *C NMR
(100 MHz, DMSO-dq): 8 197.1, 169.9, 169.3, 169.2, 88.4, 72.0, 69.3, 67.4, 61.9, 48.4, 20.5, 20.4; MS
(CI) m/z 364 (M" + 1), 304 (M" - C,H40y), 273, 213; Anal. Calcd for Ci3Hi; NO;S,: C, 42.97; H, 4.72;

N, 3.85. Found: C, 43.55; H, 4.85; N 3.63.

3,4,6-Tri-O-acetyl-1,2-dideoxy-o-D-galactopyranoso[1,2-d]-1,3-thiazolidin-2-thione  (29).
Column chromatography (ether-hexane 3:1) of the crude gave a solid (85%): mp 64-66 °C; [a]p +84° (¢
1, chloroform); IR (KBr): 3253, 1755, 1230 cm™; '"H NMR (400 MHz, C,CD): 8 7.75 (br s, 1 H), 5.95
(d,1H,J =59Hz),545(d, 1 H,J =2.8 Hz),5.15(dd, 1 H,J =10.3 and 29 Hz), 437 (t, L H,J =
6.4 Hz), 4.15 (dd, 1 H,J = 11.5 and 6.9 Hz), 4.10 (dd, 1 H,J = 11.5 and 5.9 Hz), 3.73 (dd, 1 H, J =
10.3 and 5.9 Hz), 2.13, 2.07, 2.02 (3 s, 9 H); "C NMR (100 MHz, CL,CD): & 198.1, 170.6, 169.9,
169.8, 89.8 , 72.4, 70.0, 65.7, 61.7, 46.3 (C-2), 20.8, 20.7, 20.6; MS (CI) m/z 364 (M" + 1), 304, 286,

244, 202; Anal. Calcd for Ci3Hi7NO4S,: C, 42.97; H, 4.72; N, 3.86. Found: C, 42.97; H, 4.86; N, 3.60.

3,4,6-Tri-O-acetyl-1,2-dideoxy-o-D-glucopyranof1,2-d}-1,3-thiazolidin-2-one  (30). The
reaction mixture was refluxed for 16 h and the crude purified by column chromatography (ether-hexane
5:1) giving a solid (75% from 1 or 77% from 5): mp 173-175 °C; [a]p +160° (¢ 1, chloroform); IR
(KBr) 3366, 1746, 1690, 1637 c¢m™; '"H NMR (300 MHz, C,CD): 3 6.49 (brs,1 H), 5.62 (d, 1 H, J =
6.5 Hz), 5.29 (t, 1 H, J= 7.0 Hz), 4.96 (dd, 1 H, J=9.3 and 6.9 Hz), 4.29 (dd, 1 H, J=12.0 and 4.8
Hz), 4.19 (ddd, 1 H, J=9.3,4.8 and 2.3 Hz),4.13(dd, 1 H,J=12.0 and 2.3 Hz), 3.85 (dd, 1 H, J =
6.6 and 7.0 Hz), 2.06, 2.05, 2.03 (2 s, 9 H); *C NMR (100 MHz, C1,CD): § 170.9, 170.6, 169.7, 169.5,
82.4, 73.5, 69.1, 68.1, 62.2, 46.0, 20.7, 20.6; MS (CI) m/z 348 (M" + 1), 289 (M" - C,H;0), 228 (M" - 2

C,H30); Anal. Caled for C3H17NOsS: C, 44,95; H, 4.93; N, 4.03. Found: C, 45.27; H, 4.93; N, 3.80.

S15



3,4,6-Tri-0-acetyl-1,2-dideoxy-a—D-galactopyranoso[1,2-d]-1,3-thiazolidin-2-one (31). The
reaction mixture was refluxed for 36 h and the crude purified by column chromatography (ether-hexane
5:1) giving a syrup (33% from 2 or 38% from 7): [a]o + 111° (¢ 0.84, chloroform); IR (film): 3293,
1742, 1528, 1369 cm™'; '"H NMR (300 MHz, CDCL): 6 6.04 (s, 1 H), 5.67 (d, 1 H, J = 5.7 Hz), 5.38
(dd, 1 H,J=2.6 and 1.6 Hz), 5.13 (dd, 1 H, J=10.0 and 2.9 Hz), 4.28 (dd, 1 H,J=6.5 and 1.1 Hz),
4.10(dd, 1 H, J=11.5 and 6.6 Hz), 4.04 (dd, 1 H, /= 11.5 and 6.3 Hz), 3.65 (dd, 1 H,J=10.0 and 5.8
Hz), 2.08, 2.00, 1.98 (3s, 9 H); *C NMR (75 MHz, CDCL): 8 170.6, 170.5, 169.9, 169.8, 83.8, 73.3,
69.1, 66.0, 61.5, 43.8, 20.8, 20.6; HMRS (FAB) Calc. for C;3H;,NOg SNa, Calc. 370.0572 [M + NaJ",
found 370.0570.

(2,3,4-Tetra-0-acetyl-a-D-glucopyranosyl)-(1 —-4)-3,6-di-0-acetyl-1,2-dideoxy-a-D-
glucopyranoso][1,2-d]-1,3-thiazolidin-2-one (32). The reaction mixture was refluxed for 24 h and the
crude purified by column chromatography (ether) giving a solid (41%): mp 82-84 °C; [a]p +108° (¢ 1,
chloroform); IR (KBr) 3470, 1748, 1229, 1039 cm™; 'H NMR (400 MHz, C1;CD): 8 6.50 (br s, 1 H),
5.53(d, 1 H,J=8.1Hz),537(d, 1 H,J=4.0 Hz), 5.35(dd, 1 H, J=9.9 and 9.8 Hz), 5.08 (dd, 1 H, J
=3.4and 2.3 Hz), 5.03 (t, 1 H, J = 9.8 Hz), 4.88 (dd, 1 H, J = 10.4 and 4.0 Hz), 4.40-4.00 (m, 7 H),
3.72 (br d, 1 H, J = 8.2 Hz), 2.09, 2.08, 2.07, 2.06, 2.01, 1.98 (6 s, 18 H) ; "C NMR (100 MHz,
CLCD): 8 171.7, 170.7, 170.6, 170.3, 170.0, 169.6, 169.5, 96.0, 79.7, 74.5, 70.6, 70.2, 69.8, 68.6, 68.4,
68.2,63.4,61.8,43.8,20.9, 20.7, 20.6; MS (CI) m/z 636 (M" + 1), 634, 576, 502, 474, 331; Anal. Calcd
for C2sH33sNOi6S: C, 47.24; H, 5.23; N, 2.20. Found: C, 47.20; H, 5.37; N, 1.96.

3,4,6-Tri-0-acetyl—1,2-dide0xy-B-D-mannopyranoso[1,2-d]-1,3-thiazolidin-2-thione 33).
The crude product crystallized on standing (84%): mp 183 °C (d); [o]p -130° (¢ 1, methanol); IR (Nujol)
3304, 1750, 1051 cm™; "H NMR (400 MHz, DMSO-de): 6 11.0 (br s, 1 H), 5.56 (dd, 1 H, J= 9.6 and
6.0 Hz), 5.56 (d, 1 H, J=3.7 Hz), 5.04 (t, 1 H,J=9.6 Hz), 4.86 (dd, 1 H, J=6.0 and 3.6 Hz), 4.16 (dd,
1 H, J =127 and 5.8 Hz), 4.01-3.96 (m , 2 H), 2.00, 1.99, 1.98 (3 s, 9 H); *C NMR (100 MHz,

DMSO-de): 6 201.4, 170.0, 169.4, 169.2, 87.4, 70.3, 69.2, 65.8, 61.9, 54.2, 20.5, 20.3, 20.2;
S16



MS (CD) m/z 364 (M" + 1), 304, 273, 213; Anal. Calcd for CisHiINO5S,: C, 42.97; H, 4.71; N, 3.85; S,
17.64. Found: C, 42.97; H, 4.66; N, 3.85; S, 17.94.
3,4,6-Tri-0-acetyl—1,2-dideoxy-(x-D-mannopyranoso[1,2-d]thiazolidin-2-one (34). The
reaction mixture was refluxed for 60 h and the crude purified by column chromatography (ether-hexane
5:1) giving a solid (87% from 4 or 61% from 9): mp 143-144 °C; [a]p -33° (¢ 1, chloroform); IR (Nujol)
3305, 1749, 1685, 1144, 1118 cm™; '"H NMR (300 MHz, CLCD): 6 7.03 (d, 1 H, J=1.7 Hz), 5.35 (dd,
1 H,J/=9.3and 5.6 Hz), 5.29 (t, 1 H, J=9.3 Hz), 5.12 (dd, 1 H, J=3.4 and 2.0 Hz),4.61(dd, 1 H,J=
5.3 and 3.4 Hz), 4.19 (dd, 1 H, J=12.3 and 5.1 Hz), 4.12 (dd, 1 H, J = 12.3 and 2.6 Hz), 3.64 (ddd, 1
H, /=93, 5.1 and 2.6 Hz), 2.05, 2.03, 2.01 (3 s, 9 H); '°C NMR (75 MHz, CI5CD): & 174.6, 170.7,
169.9, 169.4, 82.3, 71.9, 70.6, 65.7, 62.1, 50.5, 20.7, 20.6, 20.5; MS (CI) m/z 348 (M" + 1), 288, 270,
228, 186; Anal. Calcd for Ci3Hi;NOGS: C, 44.95; H, 4.93; N, 4.03. Found: C,45.22; H, 4.96; N, 3.69.

Methyl N—(3,4,6-tri-0-acetyl—2-deoxy—oc-D-arabinopyranosyl)-thiocarbamate (35). Column
chromatography (ether-hexane 3:1) of the crude gave a solid (87%): mp 94-95 °C; [a] p + 43° (c 1,
chloroform); IR (Nujol) 3309, 1749, 1507 cm™; '"H NMR (400 MHz, DMSO-dy): 5 10.22 (d 1H,J=
8.5 Hz), 5.93 (brs, 1 H), 5.48 (m, 1 H), 481 (t, 1 H,J=9.0 Hz), 4.19 (dd, 1 H, J=12.2 and 4.6 Hz),
3.91 (s, 3 H), 4.00-3.80 (m, 2 H), 2.10-1.90 (m, 2 H), and 1.99, 1.97, 1.96 (3's, 9 H); "C NMR (100
MHz, DMSO-de): 8 191.9, 169.9, 169.4, 169.3, 78.3, 68.9, 68.8, 68.2, 61.8, 56.6, 22.9, 20.6, 20.5; MS
(CI) m/z: 364 (M + 1)7, 304, 273, 213; HMRS (FAB) Calcd for C14H, NOSNa 386.0886 [M + Nal’,
found: 386.0885.

Methyl N-(3,4,6-tri-O-acetyl-2-deoxy-B-D-arabinopyranosyl)-thiocarbamate (36). Column
chromatography (ether-hexane 3:1) of the crude gave a solid (87%): mp 193-195 °C; [a]p -7° (¢ 1,
chloroform); IR (Nujol): 3307, 1740, 1714, 1601, 1526 ¢cm™; '"H NMR (400 MHz, CLCD): 6 6.55 (d, 1
H, J=9.0 Hz), 5.65 (dt, 1 H, J=11.9 and 1.9 Hz), 5.10 (ddd, 1 H, J=11.2, 9.5 and 5.1 Hz), 4.98 (dd,
1 H,J=9.9 and 9.5 Hz), 4.32 (dd, 1 H,J = 12.3 and 4.6 Hz), 4.07 (dd, 1 H, J=12.2 and 2.0 Hz), 3.98

(s,3H),3.75(ddd, 1 H,J=9.9, 4,6 and 2.0 Hz), 2.45 (ddd, 1 H, J = 12.3, 5.1 and 1.9 Hz),
S17



2.07,2.03,2.02(3s,9H),and 1.71 (q, 1 H, J=11.6 Hz); °C NMR (100 MHz, Cl,CD): 6 191.8, 170.8,
170.1, 169.9, 81.1, 74.1, 70.9, 68.6, 62.2, 57.6, 35.6, 20.9, 20.9, 20.8; MS (CI) m/z: 364 (M + 1)", 304,
273, 213; Anal. Caled for C14H, NOsS: C, 46.26; H, 5.79; N, 3.86. Found: C,46.29; H, 5.69; N, 3.74.
Methyl N—(3,4,6-tri-0-acetyl-2-deoxy-2-iodo—a—D-mannopyranosyl)carbamate (37). Column
chromatography (ether-hexane 3:1) of the crude gave a solid (76%): mp 67-69 °C; [a]p +29° (c 1,
chloroform); IR (Nujol) 3342, 1742, 1628, 1527 cm’; '"H NMR (300 MHz, C;CD): 8 5.81 (brs, 1 H,
NH), 5.61 (dd, 1 H, J=8.9 and 5.8 Hz, H-1), 5.09 (t, 1 H, J= 6.2 Hz, H-4), 4.88 (dd, 1 H, J=6.0 and
3.8 Hz, H-3), 4.52 (dd, 1 H, J= 5.7 and 3.8 Hz, H-2), 4.39 (dd, 1 H, J = 12.0 and 6.1 Hz, H-6), 4.23
(dd, 1 H, J=12.0 and 4.2 Hz, H-6), 4.11 (m, 1 H, H-5), 3.73 (s, 3 H, OMe), 2.15,2.09,2.08 (3 s, 18 H
, 3 Ac); "C NMR (75 MHz, CLCD): 8 170.7, 169.6, 169.3 (CO), 155.4 (CON), 79.3 (C-1), 72.3 (C-5),
70.3 (C-3), 67.4 (C-4), 61.3 (C-6), 52.9 (OMe), 26.6 (C-2), 20.9, 20.8, 20.8 (CH;CO); MS m/z 474 (M"
+ 1), 430, 399, 354, 339, 279; Anal. Calcd for Ciq HaoINOs: C, 35.52; H, 4.26; N, 2.96. Found: C,

35.89; H, 4.19; N, 2.81.

Methyl N-(3,4,6-tri-0-acetyl—2—deoxy-2-iodo-oz—D-glucopyranosyl)carbamate (38). Column
chromatography (ether-hexane 3:1) of the crude gave a solid (88%): mp 157-160 °C; [a]p +52° (c 1,
chloroform); IR (Nujol) 3349, 1735, 1533 cm™; '"H NMR (300 MHz, ChkCD): 65.51(brd, 1 H,J=9.5
Hz), 5.35 (dd, 1 H, J=10.9 and 9.1 Hz), 5.24 (t, 1 H, J=10.0 Hz), 4.97 (dd, 1 H, J=10.0 and 9.1 Hz,
H-4), 433 (dd, 1 H,J=12.5 and 4.4 Hz), 4.09 (dd, 1 H, J= 12.5 and 2.2 Hz), 3.94 (brt,1H, J=10.6
Hz), 3.85 (ddd, 1 H, J=10.1, 4.3 and 2.0 Hz), 3.76 (s, 3 H), 2.10, 2.07, 2.02 (3s, 18 H); "C NMR (75
MHz, Cl; CD): 8 170.7, 169.7, 169.5, 155.6, 83.5, 76.2, 73.8, 68.7, 61.8, 52.9, 27.7, 20.8, 20.8, 20.6;
MS (CI) m/z 474 (M" + 1), 414, 399, 354, 339; Anal. Caled for C,4HzINOs: C, 35.52; H, 4.26; N, 2.96.

Found: C, 35.50; H, 4.32; N, 3.39.
N,N'-Bis- {4,5-Dihydro-(3,4,6—tri—0-acetyl—1,2-dideoxy—a—D-glucopyranoso)[1,2-d]-1,3-

thiazol-2-yl}-1,3-diamino-2-hydroxypropane (39). Column chromatography (AcOEt) of the crude

S18



gave a solid foam (60%): [cat]p +268° (¢ 1, methanol); IR (film) 3370, 1749, 1619, 1241, 1111, 734 cm’;
'H NMR (300 MHz, CDCL): 8 5.70, 5.69 (2d, 2 H, J= 5.4 Hz, H-1), 5.13 (, 2 H, J = 9.5 Hz, H-3),
5.00 and 4.98 (2t,2 H, J = 9.6 Hz, H-4), 442 (dd, 2 H, J = 12.3 and 3.5 Hz, H-6), 4.15 (m, 4 H, H-
5,6", 3.94 (m, 1 H, J= 4.8 Hz, CHOH), 3.61 (dd, 2 H, J= 9.3 and 5.6 Hz, H-2), 3.46 (m, 4 H, CH,N),
2.10, 2.05 and 2.02 (3 s, 18 H, MeCO); *C NMR (75 MHz, CDCL;): § 170.8, 170.3, 169.8, 160.4,
160.1,98.4 (C-1), 75.8, 69.5, 69.2, 68.5, 68.4 (C-3,4,5,CHOH), 61.9, 60.4 (C-6), 52.8, 52.7 (C-2), 47.9,
47.3 (CHzN), 21.0, 20.8, 20.6 (MeCO); HMRS (FAB) Calcd for CpHyN4O15S, 749.2010 [M + HT',

found 749.1987.

N,N '-Bis-{4,5—Dihydro-(3,4,6-tri-0-acetyl-1,2-dide0xy—(x-D-glucopyranoso)[1,2-d]-,3-
thiazol-2-yl}-ethylenediamine (40). Column chromatography (AcOE) of the crude gave a solid (66%):
mp 175 °C (dec); [odp +198° (¢ 1, methanol); IR (KBr) 3318, 1750, 1624, 1251, 1110, 1038. cm™; 'H
NMR (300 MHz, CDCls): 8 6.25 (br's, 2 H), 5.71 (d, 2 H, J 5.6 Hz), 5.18 (t, 2 H, J 9.5 Hz), 5.02 (t, 2
H,J=9.8 Hz),4.48 (dd, 2 H, /= 12.4 and 3.3 Hz), 4.20 (ddd, 2 H, /= 9.8, 2.8 and 2.0 Hz), 4.11 (dd, 2
H, /=124 and 1.8 Hz), 3.60 (dd, 2 H, /= 9.3 and 5.6 Hz), 3.53 (m, 4 H), 2.09, 2.06, 2.01 (3 s, 18 H);
C NMR (75 MHz, CDCL): 8 170.8, 170.3, 169.8, 159.1, 98.8, 76.3, 69.1, 68.4, 61.9, 52.9, 45.3, 20.9,

20.8, 20.6; HRMS (FAB) Calcd for CosH3oN4014S, 719.1904 [M + H]", found 719.1881.

N,N '-Bis—{4,5-Dihydro-(3,4,6—tri-0—acetyl—1,2-dideoxy—(x-D-glucopyranoso)[1,2-d] 1,3-
thiazol-2-yl}-hexamethylene-1,6-diamine (41). Column chromatography (AcOEt) of the crude gave a
syrup (68%): [a]p +34° (¢ 0.25, chloroform); IR (film) 3374, 1751, 1625, 1228, 1110, 1044 cm™; 'H
NMR (300 MHz, CDCL): 8 5.70 (d, 2 H, J=5.4 Hz), 5.14 (t, 2 H, J=9.5 Hz), 5.00 (t,2 H, J=9.7 Hz),
4.49 (dd, 2 H, J=12.3 and 3.5 Hz), 4.21 (dt, 2 H, J= 9.8 and 3.0 Hz), 4.13 (dd,2H,J=123and 1.9
Hz), 3.57 (dd, 2 H, J=9.4 and 5.4 Hz), 3.30 (t, 4 H, J = 6.8 Hz), 2.12, 2.07, 2.03 (3s, 18 H), 1.58 and
1.38 (2 m, 8 H); °C NMR (75 Hz, CDCl): § 170.8, 170.3, 169.7, 158.7, 99.0, 76.0, 69.0, 68.5, 62.0,
52.7, 44.5, 29.3, 26.3, 21.0, 20.8, 20.7; HRMS (FAB) Calcd for C3,Hs014N,S, 775.2530 [M + HT',

S19



found 773.2353.

25,27-Bis-(2-{[4,5-dihydro(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoso)[1,2-d]-1,3-
thiazol-2-yl]Jamino}ethoxy)-5,11,17,23-tetra-fert-butyl-26,28-dihydroxi-calix[4]arene (42). Column
chromatography (ether-hexane 1:1) of the crude gave a solid (43%): mp 126-128 °C; [o]p +64° (¢ 1,
chloroform); IR (KBr) 3308, 1751, 1629, 1241, 1112, 1046 cm™; '"H NMR (400 MHz, CI;,CD): § 8.78
(brs, 2 H, OH), 7.62 (br s, 2 H, NH), 7.06-7.05 (m, 8 H, Ar), 5.80 (d, 2 H, J = 5.6 Hz, H-1), 5.21 (t, 2
H,J=9.4Hz H-3),5.02 (t, 2 H, J = 9.9 Hz, H-4), 4.57 (dd, 2 H, J = 13.0 and 3.0 Hz, H-6), 4.54 (m, 2
H, H-5), 4.35 (m, 2 H, ArOCH,),4.26 (d, 2 H, J = 13.2 Hz, ArCH,Ar), 4.21 (dd,2 H,J=13.0and 3.3
Hz, H-6’), 4.21(d, 2 H, J = 13.0 Hz , ArCH,Ar), 4.15 (m, 2 H, ArOCH), 3.98 (br s, 4 H, CH,N), 3.61
(dd, 2 H, J = 9.3 and 5.5 Hz, H-2), 3.45 (d, 2 H, J = 13.2 Hz, ArCH,Ar), 3.43 (d,2 H, J = 13.1 Hz,
ArCH,Ar), 2.10, 2.01, 1.99 (3 s, 18 H,Ac), 1.23, 1.17 (2 5, 36 H, Me;C); 'H NMR (400 MHz, DMSO-
de): 8 8.64 (s, 2 H, OH), 7.70 (br s, 2 H, NH), 7.18 (d, 2 H, J = 2.2 Hz, Ar), 7.15 (d, 2 H, J = 2.8 Hz,
Ar),7.14(d,2H,J=2.6 Hz, Ar), 7.11 (d, 2 H, J = 2.2 Hz, Ar), 5.65 (d, 2 H, J = 5.6 Hz, H-1), 5.07 (t,
2 H,J=94Hz H-3),4.80(t,2 H, J = 9.6 Hz, H-4), 4.23-4.18 (m, 12 H, ArOCH,, ArCH:Ar, H-5,6),
4.01 (brd, 2 H, J = 10.5 Hz, H-6’), 3.86 (m, 4 H, CH,N), 3.84 (dd, 2 H, J = 9.3 and 5.6 Hz, H-2), 3.46
(d, 2 H,J = 14.4 Hz, ArCH>Ar), 3.43 (d, 2 H, J = 13.7 Hz, ArCH.Ar), 1.97,1.92 (3 s, 18 H, Ac), 1.15,
1.11 (2 s, 36 H, Me;C); °C NMR (75 MHz, CLCD): § 170.9, 170.1, 169.9 (CO), 158.6, 149.3, 148.7,
148.4, 142.9, 133.7, 133.4, 128.0, 127.7 126.3, 125.8 (Ar), 99.6 (C-1), 76.7 (C-3), 75.1 (OCHy), 68.9
(C-5), 68.7 (C-4), 61.9 (C-6), 52.7 (C-2), 44.7 (NCH,), 34.3, 34.0 (Me;(), 32.6, 32.4 (ArCH,Ar), 31.6,
31.2 (MesC), 20.9, 20.7 (MeCO); HMRS (FAB) Calcd for C74HesN4O15S:Na 1415.606 [M + Na]", found

1415.60; Anal. Calcd for C74HosN4O13S,: C, 63.70; H, 6.88; N, 4.01; S, 4.44. Found: C, 64.05; H, 6.71;

N, 3.82; S, 3.99.

N,N',N""-Tris-{4,5-Dihydro-(3,4,6-tri-O-acetyl-1,2-dideoxy-o-D-glucopyranoeso)[1,2-d]-1,3-

thiazol-2-yl}-tris(2-amineethyl)amine (43). Column chromatography (MeOH-AcOEt 4:10) of the

S20



crude gave a solid (83%): mp 98-100 °C; [o]p +143° (¢ 1, methanol); IR (KBr) 3778, 1749, 1624, 1241,
1111, 1043 cm™; '"H NMR (300 MHz, CDCL): 65.71 (d,3H,J=54Hz),5.16 (t, 3H,J=9.5 Hz),
4.99 (t, 3 H, J=9.7 Hz), 4.46 (dd, 3 H, J = 12.2 and 3.5 Hz), 4.20 (m, 3 H, H-5), 4.14 (dd, 3 H, J =
12.2 and 1.8 Hz), 3.57 (dd, 3 H, J = 9.4 and 5.4 Hz), 3.37, 2.70 (2 m, 12 H), 2.10, 2.05, 2.00 (3 s, 27
H); °C NMR (75 MHz, CDCl): 6 170.8, 170.2, 169.7, 159.4, 98.3, 75.8, 69.1, 68.5, 61.0, 53.7, 52.5,

42.9, 20.8, 20.6; HRMS (FAB) Calcd for C4sHe;N702,S3Na 1156.3137 [M + Na]", found: 1156.3140.

1,4,7-tris-{4,5-Dihydro—(3',4',6'-tri-0—acetyl—1',2'-dideoxy—a—D-glucopyranoso)[1',2'-d]1,3-
thiazol-2-yl}-1,4,7-triazaheptane (44). Column chromatography (chloroform-methanol 14:1) of the
crude gave a solid (98%): mp 115-117 °C; [a]p +136° (¢ 1, chloroform); IR (Nujol) 3365, 3195, 1749,
1624, 1619, 1598 cm™; '"H NMR (300 MHz, CDCs): 6 8.20,6.96 (2 brs,3H), 574 (d, 1 H,J=5.5
Hz),5.66 (d,2 H,J =54 Hz),5.12(brt,3H,J=95 Hz), 4.98,4.94 (2t,3 H, J=9.9 Hz), 4.49-4.35
(m, 3 H), 4.17-4.05 (m, 6 H), 3.67-3.43 (m, 11 H, 3 H-2'),2.05, 2.04, 2.03, 2.02, 2.00, 1.97 (6 5, 27 H);
C NMR (75 MHz, CDCL): 6 170.6, 170.2, 169.9, 169.6, 162.3, 158.5 , 98.6, 98.1, 76.1, 75.9, 69.2,
69.0, 68.7, 68.0, 62.0, 61.8, 53.2, 52.7, 43.2, 20.9, 20.8, 20.6, 20.5; HRMS (FAB) Calcd for
Ca3HssNeO,1S3Na 1113.27 [M + Na]", found 1113.24; Anal. Caled for C43HssN6O1:S;.H,0: C, 46.56; H,

5.45; N, 7.57. Found: C, 46.42; H, 5.58; N, 7.29.

S21



'H and *C NMR spectra for compounds 5-44

X
953
Ws

VoA

2'ovi
08
(373

L 741 Sl

Qa3

IR

NHC(S)OMe

AcO

o

;Q'F i Y5 6

J

SEvE

(,gls‘”’mo‘w}oih-tl‘ﬁ \
(21iehg:d LT} PR ALD

(2 ke lrs = RO e

L8N

(S'H'zﬂb#;g!:g' ?)égﬁ (pe-ninzm]sEn-hOS
(07_”‘(‘. N 4

H

(77 1 sssa=0! pp) 309

a-Hane-Tiocarbamsto

(rev'eng8 <0 Y)azeol =;z o)

A

—d

e

b-w

b

ety

"H-NMR spectra for compound 5

S22



-

£Cs

§ punodwod 10J Juswradxa UORRPLI) ASOD H,-H,

Fos
3
o
=
-~
Ee
-
o
]
3

8NO(S)OHN ooY

I ovO

o o, !
(@]
YO




981107
LSEE 02
[A%: 3174
LB9Y° 07
L6TY" LT

€581 6t
5686 66—

8168795 ——
(24 Y

016L°L9
S9zE°69

§065° L — -

8869 28~

OAc
0]
OAc |

Instrumentacién

Clentifica

Q<
g
22
Ex
Lo
W
g8

Centro de

NHC(S)OMe

AcO

mano/I

gi17ot -

71202
SE€° 0
€807
8990 *J,//‘

S¥9°LT
£L8°8¢
180" 6t
0627 6¢
6677 6L
80L° 6
91676
LANY

£66°95
78119

.
7
559719
¥61°L9
LVE'L9
¥86°L9
L¥0" 69
82¢°69
L0L0L
1887 1L

96L° L
208°8L
259728

619891

1207694 e

SFL7691

20

40

80

160

120

140

160

180

ppm

BC-NMR spectra for compound 5

S24



§TS

9 punodwod 1oy eoads YAN-H,

wdd
. o4 NI RS SN
o E
3t
9
13S(S)OHN oY
oy
o)
Y0
O —
o I \‘
el WON 0P o) ‘u
YAYNYHD 30
GYQISHIAIND

OUeH-1IS



9Ts

9 punoduroo 10§ eoads YWN-O,,

07 09

13S(S)OHN o

I ovO

MNO
335-Ouen

@_N 07 039 ] , 0L ozl orl 094 081 wdd

YQVNYHD 30
QvaiSHIAINND




LTS

L punodwos 10§ enoads YN N-H,

1 £ ¥ § 9 L g 6 oL wd
Ldeldodo dd g d .».....-..........._.....-...n.fPL.»-..-n........_......-.F.»-.-_-._»........_-....
a -
: o SN 4§
. =) o R i S
= Part P i =

IRELEE ¥

eWO(S)OHN

54 /6)

od%v
YO

b
™~

9Z-62EL
1672961

VAVNVHD 30 CYQiSHIAING

NOIDVYDILERANI
¥1Y OAQdY AT SOJNIAL SOIDIAMNAS

aMesL
e vse

S¥YO0LL-I-7-0TYL-Y




662°07
895°07

8€0° 57—

{26795 ——
¥96° 65 ———

26099~
LP9 69—
GlLT i —"

@

SERV!CIOS%ICNICOG DR APOYQ A LA
NVESTIGACION

UNIVERSIOAD DE GRANADA

0

TRETITYYYrTYTS

YETYTTTITTYY

7Y

40

[ RAAMRARR ALY ang e

60

[ SAARRAR2RARA 22 R 20

80

| ARRAAEZEEIR AT SR 22y 2!

100

I MAARRMRAI RS 2RSS 2222

120

140

MLAARR ALY L u R dusnss2zzansa)

TTITITY YT

160

M ARLAAARARR LA ALZ AR Nai

180

TETTYTT

A-TALO-2-1-TIO

ppm

{

0E*02
%0z —>

P0"GT e

gL-ge -
62 6¢
(8 41
19°6¢

16°9G wmacm
L6764 =

60799 ——

¥9'69 e
LT =

et ——

OAc
(6]
OAc |

AcO

’18'891“_\-
167891
e

80°0LL

987264 ———
wdd

| SRAAAAARAMARERE LAALY LAkS a2

40

60

S28

80

| SAMRAARAALAL AR A L S A AR R LA LR AN DAL AR S0 R)

1

120

TYTTE[ TSy TP PTrrTTvIvTeYY

NHC(S)OMe
140
PC-NMR spectra for compound 7

160

180

T Y Ty I T TR TP O T Y T Y T R Y TP P Y O Y YT Ty T T F e

ppa



6¢CS

8 punodwos 105 enoads YN-H,

i
iﬁgéajgg
H
1

N
X

S RS AN TR I LR ST o T AT TR O
S 4 2
i w m ywﬁ
T - .Hmr
B
e
w
Wnldd
ad
-~
34
o4
= 8
» o VO
m aNO(S)OHN ooy
=
= |7 Y
t @) O
m YO VO
e
0.
F
T
k|
e )
‘o
N
Lo T
»
DEATR
g
m

DiTYW



0¢€S

8 punodwoo o] exoads ANN-D,

SWO(S)OHN 0 ooV
I ayoO oy
o 0
VO V0
D.«u\o..—,mm.ﬁ
3 A A . *
(i i R,M \\355 | i ..Amﬁ,ﬁ 1
3382 gEEmmss go2oaagEEINY 2 8 3E8BES B
5838 - ggEZ2usy BREREREE8EY B g RS R Huorsewwsnes;
99 omea
YONYRD A
KIVARESAINN

LS



[€S

6 punodwos 10j enoads YW N-H,

YWL'9

096 L .
Teabarey

14 5T 0¢ 5°¢ 0% b 0" 5’5 69
N D SR WSO M L P U Oy S SR INE NEAT VNI, DU WA S W S U RERP DT | FENUN SO ST SRS SURNY TR S WG SUDY N VORI TR SRR IO |
: £ : = =
\w_ g 3 3 g
'ﬂ‘l}\!’ Yy .S_q gi a/
6
|
{
& o
# e SNO(S)OHN 0
VO
e
Sl
~lli®
(1N
Fox
882 €1

05/

2H



ZIOTﬁ

1881 ——
95L" 4G

iy

WL L e
6lL°9L

695" 68~

40

LARL AL B L Ch A 0 A B T e den en o w2

ABNLINS 08 I SR Jun 2 B 3

L JE S N T B Caw 2w e

100

e

T Ty

140

YT

160

T

TrTTTYT T Ty

180

(DML I e e B 2 |

ppn

£9°0¢

9707
£3°07
66797 ——m
1 - —
GLY |G
£L°89 N—
0L bt
T4t
89*9¢
01 LL
LB LL
78"l
L6°68 ~"
Q
<
o
69691
TN
go°0LL~"
J1- 7 e—
wdd

20

40

S32

100

120
PC-NMR spectra for compound 9

O, NHC(S)OMe

OAc
AcO
140

160

180




€es

01 punodwos 105 exnoads YWN-H,

A 104

b

S80° 1
g0L°1
Te1bsiuy

Lt

bos. 8
L

=

A%

ST H6L =~
\Fr 68 —

§1°808

¥IZ7v-0001D

2



999°02 E o £9°02
98L°02 - N 6L°0¢
818°0¢ E 28°07

S9E " pG— -

16985 -
[A1 8 En

LETHS

0L"8
98719

&0

OLARURLS SEANSEARAARESANS SR

LOE 789~ ~mn -

ShLT 69— T

78789
SL"69
$6°SL
6L°9L
01°LL
L

N

80

86 GL— - ————-‘t

4 IO R S -

LitLé

100

MERA R AL A LR A NS RN A R AR AR SRS RN AR R

120

140

160

GLUCO-AZIR
0 o
=1
S oy
i

I RARAAARIUARANARRA AR S RARR AR AR AREREARS R LARAARALERLLAREARRE LARA

pom
&

20

4

AAAEAS KER AL EARR LR PR RARS RUAREER ARy 2l

L ARAARER AN L)

60

120 w0 s
BC-NMR spectra for compound 10
S34

140

168

Pom

| A ARMAAARRARARARAL AR LA LRGN MR L R AR AN R A AN N AN NS S S A ARG E RS RN R U R



FS-01

£y 66
87°966
£1°866

geeziel
10°ZZEL

2H

g
el
-

OMe

—m  mw

—_—

v

S9ET"
f-—_‘ﬂ—

Teabour

'H-NMR spectra for compound 11

S35



£8°6261

0E°0LS1
6l7tlst

1:4

il A AR o w0y
8
o
=
90?‘1 g
m L &)
N o
a
089 4 5 {-;
|« Y
© o
- g
BL# {
.\-—-_-
iﬁ _/IQ_C_?__ g L\u/
— ~ ! =
== —— 7€ EL = g
.2 8
5 Q.
g
o
- (3]
=
' &
©
L B
3
(T2 ]
< &
o " =
=
= o 3 Z
A on
ro0 - ] -
O
T A
O =
o} F e
I -
# LEF*L | w0
[123
3
5
Texbayuy _§;

S36



;

: 8L 8¢
168 *6€ a 61°6¢
09+ 65— = oF-6¢
ey ) i
0€9°L5 Lo 69°L§

AN e

LGP L
L " 9L e

[Il‘!(lllllllllvl(l!l‘
~
e~
o
o

80
b
=

08296 ~—— ¥6'0f ~———e

T T Fr Iy IrrrerrerroorT

100

ML B 0t 2

120

P T YT TY YT

140

160

30% ] S

Fs-01

udd

Ty T T T T TP er T T O eIy Y Ty e ey

ppm
&

LS RARANSRANE RSl

40

60
S37

82

100

(AN AL A NN MO AN AR AR A RN R A AN AR A O SE S G IS SN MY A N L e e

NMR spectra for compound 11

TTrTrrerry

120

YT TY R T Yy

140

160

[N BN A AR ERE RS ML RS SR NS RN s

ppm



FAN:"
Lc'm}..
£6° 00

[ 1381 1
527 P85
550G

y3N3

IR el PR

k\—»‘~

—
A

d
J
@inrt  (speV

n €

it L,m N
Gromatie'™) | e
‘\-_-.‘. -

2668°0
ok

Goon'utes Rypreuy PRl ES € &‘,{

Y U
(54 iy ) S ~ars
(o-w' aghT) LA v S
ALY T}
@ maet =il 1Y ET

Git'2 S me’} v

@enas bt vk

L0 nT PI8YS #\ﬁﬁ"
(’Y'H’ZHE? PV B

AcO

b1

Al

el

bop

'H-NMR spectra for compound 12

S38



20

40

S39

100

B — [ 8°b1
ge"ot Lo 55" 07
&0 >‘ | 19°07
0L 02 i 605
T r A — T v it
L2
Lz i 9178
-3
SLT19 e 1 i FLLY ———
A -
vi'8Y - TN
tan - 02" 0L
! 0z° 5t
{z°seL L 89°9¢ \_
! oL LL ?
-8 £S°LL
(2
st i0L i ¥8 161
i
-
LR
[ L &-’ o)
[ ) g
L2 &
3 -
( -
. ; i
h 1 é (.8
g o :
ga 8 . [ 28" 991~
‘ 23 3 - 29°691~,_
g g - 98691 —2=
dz § g 8501
"] 5 -
v3d § - & wdd
* &

BC-NMR spectra for compound 12

SEt
12
140 120

AcO

160

e St



0vS

€1 punodwos 10y endads YN-H,

”Km.n V B..u d mn-‘n eeu.n ﬁﬂ-‘n om_.u n“mv.n “.v n::. nm_.w a-.v Q...v .“...u ww.n ﬂ R;.n m...w.n ae..u
A AR RA A f
Yy _ T %
|
. £l
SN0
Z\ ?
YO
o ooV
VO
S %
A nol =1y
B £ oo



s
|

0970
oL oz
6L07
86° L7

W

20

40

60

OAc

AcO

OAc

N/

OMe

13

80

120

160

PC-NMR spectra for compound 13

S41



R ] S—
£eeo

Tovar
n’mr\
958
£ 290F e
36908
[ 347118
rcmf
5260t

S —-—

Salacts + MeGils

OMe

14

A

2.8

3.0

L X3

3.4

X

3.8

4.0

4.2

4,4

4.8

5.0

8.4

'H-NMR spectra for compound 14

S42



evsS

1 punoduioo sof enoads YN-D,,

wwugs g8 3 Qp 3 >
o ho s o LA 5 g o S3RUeIY -
ugE -3 3 &g 3 uopomvauNISY) ‘ ws—o
AZRRH 232 & &3 & o5 ouue) \
q
vavNvYD 30
BNON+QIED0T[~0] 00 TED UTLHSBINING w
i 7 % % a % % % o -
i i 1 b 3
mn e 1 i , p iy f i
‘ 1 i " il :
o m /)
L wousig
M z @ M 23 Seppmuewnimy
g B B 8 L g wome
g b & b1 £3 ¥
VAYNYHE 3

QVAIGHIAND

4



-

98 b4~

148

ST punodwoo 10y endads YNN-H,

b

.
b
-—d

28976

foe \GY

giL”

1 f

s

St

QoY

ZH



58902
35L 0
80z
IL8°0T
Witz

A

403

L GG e

’62°89
':es'ag\
195769~

LG~
STF 96"

LASILNE St S It S TN 3

T T Y

O‘ll!l(.lfl1l20l1lIl'll'jhoil!lltl'!éolrlll'lllg;TKIIIT1'golll!'!l'lzlﬁll

160

4

1

L9°0Z
yLoot
€870
96°07
AN 4

9LU6T .
Wpog —

108 v
B~ o
.
b
Yy

P S T T
O O O OO O e
Ll R Y= U R R P A -

e

N [
~ N

[T X Endn]
oy B o Y

Ey°E

ol a4
Sem
s
e
=~ r~

6C°LL
[A- N

EL 66
16796 —"

Zy
g0 »
O | o
O
65" 62— Q

p]
L0° 891
FGT 694
L'GQI}
26°691
45" 0L
29°0L!

wudd

OAc

A

OAc

o

OAc

——
40

20

-8

80

120

140

160

BC-NMR spectra for compound 15

S45



glLree

61 6¢
0F " 6¢
1376€

v

65°9¢9
LLrLs
00°09
8£°09
15769
86" 1L
6L°TL
86°2L
91°€L
£9°9L
€L°8L

W N

|

91796
££°00] e

INVESTIGACION
UNRIERSIDAD DE GRANADA

SERWC!OSEICI‘HCOG DE APOYO A LA

NALTO-MECNA

0776t
0¥ 6¢
1§76t
€0 0¥

66759 e

wdd

BC-NMR spectra for compound 16

S46



LYS

LT punodwos 1o enoads YWN-H,

o'g §'t oy sy [ 264 §'5

2 i 1 i i i n A : i i A i " 1 A M A " i i 3 A A 1

1560°0

10y
£E
040"

° - e -
: me 8

™~

£97€%8

2200
247608

Ll

o
S YO

VO
SN0

04" GEGY:



619°0Z
§89°0C
608702

08696
gL g

809° 29—
oy 99—

£2L 0L
ey tL—"

8L6" p6—

wid

W i

>

20

M ASAAARAANARAARIIAS RS ARE R

40

LAAAARALA AN EARAN RO

60

L3 AARRARAEE A ANN DA AR

80

L AARERAAREARABNLAN]

lllllllll‘ll"'llli!llliiél!l!ll'!lllllllll1m

140

160

(AN SAR AR RN AR A REARAREEALE RN

GLUCO-RES-ACET

79°0¢

89°0 -

1870

86795

15 8y
19729 e
£ 99— -
LWL e

3 40

8L 9L
o >-
2 LL

86°§6 -

OMe

OAc
OAc S

AcO

Y6 69| =

L_Mua-

17

A

B AASANEANRNENOARY SANSE AR LR AR AALA

III(K‘T‘}III!!I!IIIUIVI

TPTrYY

20

n:-n-v-xvtll'llil!%aiolllv|l'vr'tll:lv 80 éol

4]

‘|1'1l‘ll‘v|1'|-rn11r&

1

160

RN RN RN AR AR AL AR LN AR NSNS R

BC-NMR spectra for compound 17

S48



§2

6vS

81 punodwioo 10 enoads YWN-H,

o . : . .
1 i i A A ﬂ—ﬂ i S ﬁ—' a 1 a A m-‘ i i A ) Qlﬁ”

3.

2

gis-z
E0L°RE

881°1

A A A A

82986 e

~ i

waeyr | §

1

8L




bit" LS

E0L" 19

69" L9 e

99°0L

6ZL°9L

LEG E6 e

™Y
120

GLUCO+RESINA=

99°8¢
¥8 8¢
Zi"6t
0% "6t
89°6¢
96°6¢
£ 0p

s
48709
Wi
S¥°L9

L9*0L

£L°0L

£5°E6

OMe

OH

ELfL e

40

60

80

100

120

140

160

PC-NMR spectra for compound 18

S50



1SS

61 punodwod 10§ enoads YIAN-H,

sdt
R T AR S SR U S PRI SR U A IR R
61
H
N
/7w
N 02,7
VO
@]
O
seq B0D ANUG ETLND W
LT
VeIMUILRIISY
NN e
/ B!RQ(Q(Z«&UE
8 B £ 3 8 GvOsHSANN

YLk
e
"68s
108



(43

61 punodwod 103 endads JIN-D,,

[ " 3 9% ] [73 L] o5 o83 o5t o 1] 2] o6% o 17l et =i
i i 1 L 1 i i 1 A 4 2 1 A (] " i i 5 1 1 L i b 1 > 4 a i 2
1 i £
f

{

¢

|

113

A H

j N

i
ooy
O
o
e}

! N i1 i %w. I 11 i w/
i t J J A
i > P SR i i)Y :\.“..»
& 33 £ 2 22 88 IFIN g 23z 5 BEs3 3
8 22 - 52 o3 3g:g 8 2y 2 L3-3 4 ®

op}

YIVNVED 3G QVREAIND
NOOVOLLERAM
Y3V OAOMY 3C SODINDRL SOOI

®



€6S

07 punodwod 10§ e303ds YNN-H,

~.
T

¥6°209
L1344

¢ Y i =
1 N 1 i 3 i A N n A i . :
B “e b S| = m.
(=1 B > 2 &
* 2 . p- < : 2 o 3
P P k-~ 4 & = = &
0z
N
_._o|\|l 4m
oY
Y
o]
YO

83YRUBID
NOIRIUBLUNNSLY
ap onue)

VAvNYHD 30
QyaIsy3AINN

OPRIOTY SON + euUTweOuPly dr



12

07 punodwod 10] e1oads YN N-O¢,

>

Ody

5

9

I

i
5 ——
16°6g4
et
se0ut
£8°0L)

i

P4

|t
13
o
L4
0
1z
Bl —
9’y —
[}
29

a
Rl ) oY

opeToTo BUTWRTOWRIT YL p orney

VAYNYHSD 30
AVAISHIAINN @ O

ovO

d d kL % % ' -

3] 3

R
le

£ puse & g sz sz 2 g 8 oumes
& kR 5 = a32 ki ] ig vl
YAYNVED 30

opeTaTo wUrRHIODRIE P dvaIsHAND m@



§ssS

17 punodwod 10} e199ds YWN-H,

LT T4

=
N
x
&
p< s

X

oy

. N
2 N
RN
HO
\ ¥4
N
\|\ /4@
HO N 09y
ov0
o
V0

e .
82 82

6t

54




9SS

17 punoduwiod 103 exd2ds YN-D,

NN

o
_/'

o —
SL69¢
€£°0LL
¥eUoLL

wid

28 22 FHII 8
xe B2 sk 3psk &
ums \\
LR UBRIIS]
opeiras eutwelouels-‘( prysans .
* VAVAIVED 30 @
QvQISHAAINN
AT SR L AP L. O
h | B | i v bl d i
- f
h
.
.
. 1
i
LA B2 o B g g ¥
PESY PR By = & I i
op canaecy
VAVNYEO 3O

opez393 wnorioweig -1 . QVAISYIAINN



LSS

77 punodwoo Joy exdads YN-H,

£ . § . . ' s . . $ . . b
[4A
H
N
ms_.olA| 4m
0O Od%v
YO
@]
NO
OpRAAY WTITS W
I | | i

QYaISUIAND

J
‘. -



8¢S

77 punodwos 10} enoads ANN-O,

wld

16728 —~
wes —

oor
8707
£5°5F ~——

L4

SL

9L

i

u
Y695 ——
6185 ——
L6
90°041
ool
sLoLl

il

RS- EHE F 3 3Ra:
., 3NO 4@
i \\

BUTOTTY ¥P somurin N \ ooy

ap anue)

WAYNYHO 3G
QAVAISHIAINNG

S, _ VO

VO

=
3
3
&3
(=4
-3
=3
8

& 2 h 5 & M e
22 4 T @ £s e z Duneerd
23 H £8 ] Z& H §  cormmuniy

YAYNVYO 3a
RUTITLY HO QVUISHIAINN @



Bk e

atad

6SS

€7 punodwod 1oy exoads YWN-H,

r . k]
1 n ' N L i

aial
oy

667 |

40

il

7T

S2A8REBES

WO I A D R

&

&

ol

LR AR

SUTPEITGOVTEY 4 SIN-T

€ VLET

N oo

oy

WO

s.!io_u \\
SW.E!..ES!“
0 onvey. 8L

VOYNYYO 30 &
CVRSHIAIND



09S

€7 punoduwod 1oy endads YIN-D,,

>

90 Hl. ——
1ot
£9°02
mwe
;6 ——

09 ——u

>
ITH

13 Zl\>

9E° 8L

1998t
2 gh—
188}

B2 2BISIY &
LR HIVISL 2
74 \ H
e o d \& N
VORI AR
eutprITdounay + SON-1 wain =N s
s
o%Y
e}
i d i d b L %4 AP Vo
N ] L] L .

EpEEsNsy £ 2 82 %88 3 2 5% ¥ # 3
hibmzban 23 kB kkk 2 & B B3 g

vevNvD 30 9
wuTpyIIGOuTeY + o1 ovaisusann



198

¢ punoduwod 1oy endads YINN-H,

-
o
o
o~
d
g

UGPSR IINT
M LI O
3 VaVNVID
Ese Qn_mcwahm @



798

T punodwos 10y endads YWN-D,,

>

97" 651 —
96691
617041
woLl
62907

L]

A

EExEuguEsss

BREIVBLBRUY

Srep —
@78~

e~
sLrsEL—""

§¥'69
0369
BTG
9ET6L ——
97766 ——
WL —

SON-T + eutwe3sTH
VAvRYYO 30
QVQISH3AINN

o0t ® or o8 wid

<
]
2
e
8

=3

_

69
o5y —

QE"" —_—
6§ 6p
58725 ——
8y —
9L =
EE6L momee
62766 ——
65° L1 —
LI SE

H

H

3

H

s Geogors
o o s
28 S Sponng L
YOYNVHO 30

P — AVAISEIANA

e

ZT

oy

VO

oY



£9S

$7 punodwos 10} Juswizadxs uonepro) DOWH HDq,

il » % id i b
o
. )
H
1 7 w‘ﬂ
P A m .I.Mf%.ﬁ
3 i .
{
S i — ¥
: t =
3 |
o : :
W ! !
: . _u )
o b 4
m R _
" i H :
Pt ;
i " mAv*
£ }
1k i
i |
o] . :
i . .
.
Yoty pove ” e wsqetanme - _
ﬂ " uv o
A W a b %
VI n a Y
[$-1 ® 5, .oa
P o7 J.



¥9S

§T punodwoo 1oy enoads YWN-H,

R . " . i N " : N nr " : a . m . " N N w " : . A !_.;u
S i B . Bl s 1S o S 2 = 18
AF BOARA ARE A R _RA

HO H i
N
HO /70,
N o
Y0
0
WIRTTANR-HG~10 # SN-T VO
Al | = S
282 ,, , g wonsvirs ig

QYAISHIAIND



Drod el g aant e,

“J-KRCS +

UNIVERSIDAD
DE GRANADA

@

19°6- ——

we —— -

6302

%04 =

€59 ——— £ _

(£l —— .

ey ——
owey ~_
69— - .
olze —— 3
L ~—— -

0956 ———
16766 — R

Geiro e
netrurmentaci
‘Cleatiea

R
]

Jl

OAc

3

2

ko

OAc

OH

AcO

UNIVERSIDAD
DDE GRANADA

I-NCS + Di-OM-Bencilamina

Instrumartacisn
Cientifica

Cantro dn

OH

ZT

S

25

0616 ~——

Wb~
W@eL—""

20°00 ——

Ee—

05°b¥1
>

56" Hy———
767691
u'ou}
FANT

wig

BC-NMR spectra for compound 25

S65



99S

97 punodwos 10 103ds YINN-H,

M
228

i3 o

o) 1033 4 SN

FRIT

o)
(e} H@\ 4@
A o ooy
VO /)

VO

SR
PORWIBRNIINUY
W aRieD

YOYNYYD 3G
QVAISHIAINA

J



L9S

9¢ punodwos 10} e10ads ANN-D,

N
/

Gassim)

>

190
154
1244

()S

19

]

3

59

6!

13

oL

0L

oL

SL
SLg0L——
% —
ShsgL—
6L79p L —
e —
S6LSL——

10°0- ———
098 ——

................... g3f ¥
u nununuwunnnmm gkba by O\/_ H 92
] ‘m o N
vemususuiss) - i o
RUOIOD 1937 + SON-I o ame & S
<o<z<zomc®
AQVQISHIAINA
A (0] oV
e — — e O/L
YO
o}
¢ % % % ks % % % el d o ki w VO
AN | \\\\ﬁ/jf ‘ | |
s - B3y ¥ s 8 sgsssesasssy 8 g wgm
g 3 LT ] B EEFEET I3 ] ket

. VOVRYYO 3
IO 1H1T + SN-T aQvaIsHIANT §




89S
LT punodwod Joj enoads YN

........

P4
3
L’O ;
0
o)
NH
i
foxe)
Iy
o)
>x o
gsg 8 VAVNVED 30 GYOISVIAING X
oo Ly - NOIDYDILSBANL
progi g ~3 ¥1 VY OAOdY BO SOJMMNDIAL SOIDIANA

47-HS~ONVH @



69S

LT punodwod 103 endads YWN-D,,

4 0 0 0B 001 0z 0hl : 69 wdd
aca ittt saaaaaa iy Lo s aaaanaiain ..—.::.......:::L::.-b::.:::-_..:::bu:.:..:_..::.h_._.r..::_.____....s....-.::_:.:»...:..:.
T T ﬁ -

fx4
O
O
NH
3
oY
VO i
LN D NN T A AN | ° A\
= BERERR: 25 £ 288333543 88 222 2888 & 8334
T 3SR s b R el & FISRNALESE Ny B3E &3ug b3 v}
dz/ur
% v . .. % RN o g o L Loy w
P N { . -
Y T 1 "y s .&-4 Wy "
BORIBLY
. upIoRBLUN IS
8p 0AUEY
7 IS A vomeas o
o QYAISYIAINN
P R R R N R R AN NS NI I I IEARE RS & |
-

.................



0LS

L7 punodwos 10} juswiiadxs uoneero) HOWH H,Oq,

o2 - 4 o
X % . i TR W
wd ]
]
51 e o el e s 2 e s g —— .
;
i
P B T i A =
I
R 181
. g
£ - R .
]
1
]
PN I : |
)y
4
i
i
3- - —— - e
4
JIY
ﬁ ﬂ .. \v
]
BOURW)
2 an” e ey H
| n 5 osuey
,_ !

“ & YOVINViD 30
ot o . il



ILS

L7 punodwod 10f Juswriadxd uone[d110) DOWH H,-0,

¥'E ¢y ar 1 8] d

L2
Lvo

O

sew. _ —

8&!3 \
¢§.!§.il
0 e

YOVRVHO 30
CVOIBHIAING



<LS

87 punodwo 10§ s.boo% ANN-H,

i g § Y L wd

ket g adaa by g s asaa s da g aanaaa gt ise s as s daaaa v e ia gy

4

..\ﬂ»-»-.-.m.-.-m.- addaaad v agay iy va

KKK
111483 -

ry

L

poadaad
)
.
LEL

8bi°9l

S 8z
Yw
N 0}
VO
(@]
YO
m m m m YAVNVHD 30 avOISMIAIND &
.W W W u NOIOVDILSBANI
¥1 ¥ CAOdY BG SOJNDIAL SOISIAND

J7-HS-ONVH @



OAc
o
OAc
S

AcO

NANO-SH-2F

0970z R
807 —

6L76¢

0% 6¢

19°6¢

20 0¥

W gy ——

¥y —

9E"LY =l
§2°69 ——
96 LL =

vp8g

XA e

BC-NMR spectra for compound 28

S73



vLS

67 punodwoo o} enoads YN-H,

0°Z 0y M 0°% 'S 0L LA wdd
4 PRSI SONY NRI WY WEDT TN SUE GV Y W ) o PRI IRUN RO SRAE VUUE SEST WIS RIS YUY SHEN SR T SN0 ST WU Yome: S | ot PINRR SETSIRTUPRE G T NN ST
= - Mﬁ " _., mﬂ g
o i = Ik o : :
] 431 N ]
9/ D ] O O
H
7 S 62
Ns
N
VO
O— oy
WO
(1)
ozw
B &
5818
2838 YavNVED 30 QVGISUIAMND
NOIDVOLLENANI
¥ ¥ OACJY 30 SODINDHL SOIDIANAS
HS-OLOVTYD

®



GALACTO-SE

29°0¢
15°0¢ }-
£8°02

8279y e

(AR e
L9769 e
86°69 —mee
L L e

6L°9L -
oL LL ?
WLl

£8768 -

(93]

=7

OAc
OAc
29

AcO

817691
zswss;}
96" 0L}

FlL g6l ——

20

40

60

80

100

120

140

160

180

BC-NMR spectra for compound 29

S75



—ad

9LS

0€ punodwoo 10y enoads YWN-H,

1872

rosterer | B

[£8° 1

987072
9Zs0°T
209072

3. M— A i L i ’— X A i A mr A i i i c—
uﬂ¥ ﬁ \Va
O, L= i
®) 0¢
Ds
N oY
VO
@]
ovOo



619702
9L 0L~ 1

E69° 67 =

Y20 9p—— ey

LI e

ELL 89~ —
180" 69—

6£67¢EL

peE ig—— e

o9y

81729

1789
80°69
$S°EL
L9°9L
04°LL
(49 E )
6E°78

L5691

OAc

|

|

NV

OAc

AcO

30

PC-NMR spectra for compound 30

S77



8LS
1€ punodwos 10} Bnoads MEZ-E_

82 (%3

i A 98 S's o's wid

VPEE e

3109

(3 2]

YO

od%v
YO

33183 eUTPTULTY

LG8 13 aat
§'ey——

P N\

YOUYNHD 30



=

£859°0
A

LEER th——-

ol

R

6LS

8126 19—

1€ punodwos 10§ enoads YNN-O,,

LTS )

EEEE ;
b PO
m m W m UPIRUBID OB ‘\m
wonng [
VAYNYHE 30
O3oeTEY PUTPTITZV QYOISUIAINN @
o 0 o " -
! fi 1 I L

-2
2

iSO

fLésror
Here—

£E0RER

Donswad
voviuRnIY
e ey |

VOYNYHD 30
QvOISE3AINN

PO 69—
1687 EL——

bigy 19—
£900°99 ——

YO

YO

ooV



R ad ‘3599

=
ey Ve~

642" 06L:
e:s'aoal\:_
940" €28:

634

(’H’?‘S'«&’Yoﬂm\g;g

Cuos oL pp) 8sh- p

(2rtuia233)e0s g

(enmrelees g‘w)%ﬁ) S-§
(ribrierp dives.

(non=srprLes '-33

(2r78-2P) esexy

z. 20
& o 0
? 12
(@]
O o !
2 0" N3 (18')8 93— |3
o g ]

AcO

£ I i 1 1 i i ) 1 A {

S80

"H-NMR spectra for compound 32




I8S

¢ punodwod 10y endads YNN-O,

L] [ [ [~ « wt o5t out [73] widd

ot : ] saalstisad aia i A Abdndot A rasssrtigasaronsdasassasaslaoseaiaia
] : " asadssasraaasdzonansasatenan i biaoga s ciadaasnansad Aasiasasssaialaadndopariasnninisatysisssarelnas
z "
y oy
f&w\.

VO , 1
_M/ i 0o 4

VO vO S

VO o<O¢

o3 2 o ) o -3 9 o L % - (3 |3 o7 | 4] oGt [ [ 2] odd

acad aaagasaabonas S FETEPER L PR UV L YOI PRUTYPITTY 1IN SO FFEN TR PP T VERTE IS STVIRTI PRETYVITDY VAN VO PR FEWERTRE TS PUT FRTPIN Ledasasaasleanasyvandisassass

" -

EYEEIRRE

P 3 ST
3
N
N
8
u7"

,

LB e

100 §Gmaces

wos

0BGl
5302
0L

58



¢8S

€€ punodwod Joy endads YINN-H,

4 £ ¥ § 9 L ] 6 o ip wid
-».u.ub-.u.-.—....u...-—.__-.F»h._.u,_.-...—..r—.—.;-h_—-»-.-h—....-.—b.r»---...~..._....-—.-L_
1 { TR i ) 1 g
Ny e —t by 3
5 J Ak o I L g
L - L)) i [l
[PV O N -
" i

3/
T

—

€t
odv

S v

WO

N
-
ay

8¥0"E6L
65¢° F6L
€L0°86L

S-4-000D



s e

1202
e 02 e s—
6% 02

61°6E :
06
196t
£0° 0¥

20

 AAARERANAAR A0 SARRY SARLELN AL,

- 2
TG = ] Y2re ——
4 o
-3 .
618" 19— —— k (919~
e e | 3 €9°69 ———
027" 69 —~me - E £T'69 -~
162°0L - 3 6oL ="
E2
oLy’ 18— - —— g ——
-8

120
OAc
O/ N
Ac
33

40

AcO

| AAALARAIRALARARAR] LSRR ERARRARARARARRAZMRALALRLE L LYRY

1

0z’ 69¢
691
167691

180

GLICO-B-S

200

10—

T Y T T T T Ty T T P T T [ P T T TP TP Y P TYY

wid

pomt

S83

BC-NMR spectra for compound 33



¥8S

¢ punodwos 10y e123ds YN-H,

A m 'l A A 13

]

et~

g

L i
bt .
m .

2T

SVIQ 7 TONVILEN

oY

MO

o

T -

2!



20

S85

[
o 1070 e
_
Ws' 07 [ & ¥9°07
L0 5 £L°07
o
L2
[
325 06 —~— e ! £6°06
[
g gy ——
2L §9———r E— - £0°69
19" 0L~ | - v9°0L ~
= e [ (811
398" 1L i Lo
- 89°9¢L -
: oLLL }'
. » -5 6Ll -
31E PG — - 76728 —
:0
S
:g =
[ — o
- <9
g o
o
o
1 i
. aLbr6al
: ~¥6° 691
X 3L°0LL
1 9'pLL
[ 2
¥ & i

80

100

'H-MR spectra for compound 34

Ac S

AcO

140

160

180

pra



A-MANO-PH3SNH

SERVICIOS TECNICOS DE APOYO A LA

L8999 e
£5°99L
$9°E8L
12 68L
£6°76L
8l 66l
99°008
LL79z8
92" 628
1L°266
PS5 V66
6£°966

§9°G¥51
Sy 8PSt
LT essl
18°9p551
18L8s1
1T7E951
1£'2Lst
50" 1681
£67L991
01°ZL9L

0976191
Lz¥89
y0° 2261

019622

60" 167
L6°26T
176567
16" LET
6L°LLET
56°8LE2
16" 1862
18°€062 /
B89 6867
§1°0206
£9°5118
L8'121€

INVESTIGACION

[ W23

ONNERSIDAD DE GRANADA
o
<3

\7

T60¥

o
=+

OAc

Ac

NHC(S)OMe

AcO

35

Y

3

BN

K‘

LB iy MR AN B BMR BN ANE )

bL-

]

£6°6
Testeyu]

LARE 008 2o §

LIRS S P vk I A AR LN DA S B B S Lt i JN DO RN ML IR S I |

T | MR ANE UL NG Aot S Ear et Bn SR S Ak ASL EIL AL AR BN AN 1
8 1 6 5

X SN Yult S NN NN KNS S Ena |

1
9

10

YT T T T T T Y

"H-MR spectra for compound 35

S86



8L
2807
0012
§L°67 -

v

gLgE —— y—
{

18°19

2073 —

50799 e —
§9°89 wm— ~

"

607 621 ~~—vs
oL —""

98 9¢ L -

20

AR ARAAARSRRERARS RARRARLR AL

40

YTETTTTTTVTeY

T

60

80

UARAARANS RARARLARARARILARE RS RANL

LA LLRR AR AR A

180 160 140 120 100

AR S0 LR A RN AR MR AR AR A AR Rt AR N R AL AR R AR ARt RARRARLRRR LEAL L)

rTITETeTyT

MARO-Hsn

LIy —
9L 07
£8°07
10%1e
Wz
Or AR T4

LLTEE e

28 19
£0°T9
9099 ——ame
9989

$9°69
8L°9L
ol"LL
L

607 6ZL
Zl’SZLl-
6270¢L
L 9E | e

L7691

os'ou}'
6L70LL

80° 26—

OAc

Ac

NHC(S)OMe

AcO

20

60

100

120

140

160

180

3C-NMR spectra for compound 35

S87



88S

9¢ punodwos oy enoads YN-H,

o Wi
1 A ’

AR KXE KL K AT
N | ¥

PO S

9¢
/ ooy
usn' W U<
waew 8IWO(S)OHN O
HE
o e S ov0
04 59¥°L &3
Ky 2 »n
ish!a
e »
»M e n
L] "5
”n )
B VLS00 E
» 2%
W b: 1
SRR BTN - 34
: 1 »n
”u »
ey o
L g X e
i SORUDES 00 . e
LR ¥ ] E
LUE 3 )
” e s 50
L DT
[ 349 "
- e »n
OB ] QL4
% WBIlome2 [}
wan Fr-oy
e e \\\\ﬁ} .§ /77 X y >
B m SEOPCTor i LIy (7 !
mmngwm-uf REIBRESRCRRRCEINIEREE SEBRBaRReEEEEEEAREINSG RBIREREESE RRNRS 38 =
. ons BRABEERNBEZSENDERESES IPHNRILe Rk hBeuRe FITFTR2c2D BhBaAR Py
o wes -
ia!alwn T E

b 3



681.'0(“\

05802
ovg 0z~

8197 GE o

608°LS
691° 29—

95" §9 ~~mmmr

22670L
190 %L

¥50° 1B

GLUCO-Hsn

4

19°L38
A4

L5789
L6°0L
Lol
8L79L
0L LL
A A A2
50° 18

o NHC(S)OMe

OAc
AcC

£8° L6l

wdd

AcO

o
e

20

40

80

100

120

140

160

180

BC-NMR spectra for compound 36

S89



06S

o

L€ punoduwos 10y enoads AN-H,

TR R BRI
- 8 @

508t

f

lll‘nl:\\ll!llll-l

8
SWO(O)OHN 09V

| 9vQ
@)
O

" st-aysmegen

tke

‘WY

VRN ]

2 omRO

i @



16S

L€ punodwod 10§ enoeds JN-I,

w” o€ L4 o5 ] oL o8 % [ 13 oy 49 L %1 ors
3 i e 1 1 1 2 1 A - L i i 1 1 1 1 i i
i
|

_W 1€

_W aINO(O)OHN o9
_ i ov0

, - 0

# WO

L “ ERE Y ~ AN |
kd i | ! j :\: i (i
L B 2 2 ERIyNs 8 8328 i3
I28 B g 2 b kEozkk 2 gray 2
EIYRTHD
WHERBADS]
;P OUIED

YaVNYHC 3D
AT-01VAHVBEYD AWSIAANN



25

&

)¢
PR 2

2

[ %
O Y

P

68

L€ punodwos 107 juowiiadxs uone[alo) ASOD-HI

&8
N N

o'y e

ere
v u

aNO(0)OHN

WL

P o)

YAYNVEO IS
TEIETRAING

A

| 9vO
0]

ovo

o’y



£6S

L€ punodwos oy juewiiedxe uone[ero) DOWH H,D,

2 % e RVl . - s S
¥ . ﬁ
{ <
: LI x
Lo
4 . 3
] * ”
1 .
LR I T
. ¢ o
€
+ aWO(0)OHN ooV
| v
o}
o)

S,
§
Yo Lo
)
“>
$-3
ég
i
;

)

oy 3
orsemanas)
» oum

VavnvIo g
ATWESHRANND



PINER T W WU SN SO ST W YT T VERT NP SRR WO B UIR WO SO O S WV S W UM N Y THAT U SN IR W PRI WSS IR S

v6S

8¢ punodwos Jof endads YWN-H,

@2 %2 €2 0t 'S 05'e mn_.n 00’y aw..q om_.v “ j.n

B Ao din et

3
3

P LA ST e A

8¢

o2V

ovO
8NO(0)OHN O
VO

NPT IAL9G

[ Sl




%970t
694702
LE§" 0

T

T
i

2

869°LT
66€ 0 ———

§06 " LG

6187 19—

99989

Ty T ¥ v T 177

T
0

YTV VT

T
60

88L°EL
¥6L°9L

L Dt MU S S R R

18£8 e

0

8

LI S it BN M N H

!
00

i

120

L e A Suk ML SN L I INUL NS S L ANR ML A BALURS END OL NS UL ERE B DR BEL BN R
140

160

TTTTTTTETTE Y

poR
2-TODO-TTOCARBAMATO. +mCPRA

§9°0¢
LL0g
¥8°07

A4
0% 0t

Y

677§ ———

£8"1%

L9789
6L EL
61°9L
§9°9L
oL
O£ LL
AN
1 ARY]

2R

\

LS G

29765 e

05" 691
807691 —Do

§9°0LL

TR YT Y

)

¥

4

LI W M et B 0N 2 4

T
60

S95

T T s ¥ v ¥

30

8

3C-NMR spectra for compound 38

O NHC(O)OMe

OAc
Ac
38

AcO

0‘ IR ‘150' R .166' AR

YT YTy
14

160

(L S UM I I

pre



96S

6€ punodwod 103 exoads YWN-H,

ad
=
o -
e ns

i

e S
T ———

oY

o oVt

VO OV

SIN-1 # BULRITTBIINRIG-E ‘T 006

98 P09
[ R4 et
%0

) ‘a
wopa N .

o0 ey
VOVNYYUD 30
TVQISYIAMNN



L6S

6¢€ punodwoo 105 enoads YN-D,,

6¢ HO

>

6o ——
£9°07
607
19°67 ——
£ —
/L -
69°2§ —=
o
9
m
I
9°96 ——

B 28BBI R
2 EEETEE T LEE
mi //m
N N J
T0-£ ' jouedoId -HO-2~OUTwRTP-£ | ovo 7
+ SON-T
et @ 0oV V0
—. —_ — o o
of
N ¥ % d % 4 % % % % =

= omEw @ T 28 anﬁw n_,. o_. a_n a..._..nn\ g
B eR3 3 Bk & 58 hubkes 3 z & ..%._ﬁ.sh.ﬂw

VAVNVHD 30
WY’ | -Towed0Ig-7 + SON-T ovaisHINR



975+

iy

-

8E

or

6€ punodwos 103 Juswadxs uonePLI0) ASOD-H,

38 4

86S

VO

oY

oY



66S

6€ va:omEoo 10] juswnadxd uonepLI0) DOWH H, D¢,

VO 0%V




001S

0 punodwod Jof e1dads YNN-H,

AL R R AR K
L ey

i i i " —ten -

(114 H H
N _N,
wi 4m
V0 N N {0
v oy
o) o)
e} 0o

SUIRRIPURLTIY + SN-Y

/N =
BEes B e ¢



101S

0% punoduwiods 103 eoads YNN-I,

>

U6 ——

A AN

>
"

£2° 5 ——
19702
9%'sy ——
16726 ——
819 —
89
69
89

B8 233 2 % 833 H H
33 &2 nagh B P mmmw o Z/\Z
m\\ 4m
VT + SON-I vavaves 3q @ ovo N N oV
QYAISHIAING
- . - e ooy VO
(o] O
VO OoY
R, R L N 4 % d % o b
A
BEs & 2 = 28 & % [
288 g & 2 33 2 @s.ﬁ.z..:ﬂ
op onuan

VAYNVYHO 30
I+ SON-T AVAISHAAIND @



2018

I punodwoo 103 e50ads YNN-H,

g 9
H O . H 1 I : :
0%y
o)
e
&
A
o
<«
3ol
K4
\ M om 2
£ g8g g &
@ mow - FOUISL)
VSOMUBLNEL,
P WY
YAVNYEE 30
QVGISHIAIND

| @&




#9707

1454

FTETI

ELET R =~
09—

LS ——

021 P/—

056" 19——

£ers—

96k B3~
LY 69—

066" SL—

126° 86—

Hexametilendiamina + I-NCS

OAc

Sotenciad)

(22

AcO

1070

96786 ——

ST ¥IL—

947631
® '0:.;}
18°0el

AcO

41

BC-NMR spectra for compound 41

S103



(o

Y0IS

' 04
d i, 1.

¥ punodwos 10§ endads YN-H,

¥y
1

it
-

3¢ &9
i

AR

wi

SEO Q9P
CEG PEY--

-

Sre
et
vl

ey

OFL SBie~.

28 vea-
618 Uh~

AR A )

|

LE A A

Teabeut

j

e

HO 0

B

1

O3Y

ISON
g50X11Rd

YRR

% ouuy

YAayYNVED§I
AVTSRAAINA



¢+ Calizarenc
2z
E$4

€576

5 B2 Banr-1:

UNIVERSIDAD
' DE GRANADA

AcO

OAc

&40
S

42

OH

g
g
g
:

8566 ——

£1°524
08’ spL
L0 L
i

ﬂ'i{l?
L9°EEL
167 EpL

sE'gh
w'”tl
s

F Y R

xe
i*0Lt

et~
o

BC-NMR spectra for compound 42

S105



&5

L

L

9018

Zp punodwod 10§ jusurizadxs uonejaLIo) XSOD-H,

47 oy [ 34 v Ju wid

.

ELRUNTY \\.
oppensanaary |
»p oy - E

YIIRYEO AT
TYTHSAIAN



¥

LOIS

7 punodwos 103 Juswiiadxs uoneaio) DOWH H,-q,

..................

1
1

L ] Gl
wopseamonnec; B
¥,

D orer)

WAVRVED 3
CYCUSAHAB

w



8018

€ punodwod oy enoeds YN-H,

uod

NESES N N

34

!

z
|N
b
o
I
X
7
2T

By EUTSRTAL

§(°000——
€9° TG
[T

ey
WOy

VIVNYHD 30
AYQISHRAING



riaaira Pacc GC

0£9°CZ

WL

fni—

6 y—

S 25—
£89° 65—

206" 1§

E18 B
S01°—""

gL

L2

2

8

23

4
[ 1
N
I
(5]
lov
I
7
fq/zx
o &
Q
2

AcOr
AcO

43

Triamina Paco GC

5907
18°1

@l

96° ——

9
B —

' ~—
953
N S
wu
59\

oL
0€"LL :/
5w

ot —

[aa]
A
o
5
Q
o
g
(=]
o
by =
= =
E
Q
[P
e ol %
2 =
Z
@)

-

S109



OTIS

pp punodwos 10J enoads YN N-H,

=

0oV

| \\M//f/
e 4

E° Tt

2 VR

w

2 mvmwm.mmm

b7 RV I % o)
YAVNYED Q]



ITIS

b punoduiod Joj eoads YN-D,

| ) AN A

SEUBE2228RRR XA 28 £F @335 e
BESUSURYERNRIBRR8ASBYE <8 R 38k

N

(4

02

.4
%6 —

seUor
9"
£9°
1A

uspmmaning \ “ Z/\/Z N
PUTWRTIIUSTIIATC dP ona & WO
mens @ N e
0
— i . . [e] o ° 0%
VO OV
'
0ovY o
9
v (05

SREBERE 3 gE S2RSSgssisday BEE o WP
Bin P i Gehubmbiibks 5
RESHEE 8 #%  URTFETEIISEIR 2 E Foonuminnd \\

e VOVNVI
v (aneIsTa Ao n(OQMNhM @



